
�������������������� �����!�"#$� %�����& �����$�
/+)*5�:����);5�����$�-5�11!�I/;,II-�

�#����+
�0!�# ���$��	.�����4��
�����
ABCD/�8� ��CE/�(�!,�F/�

=�RAEHRRF�

� � � 
 
 � � � 
 � � � �

�
�
� � ! �
������� A9��$��� F�!��
�9�� ��*�����
���� �
�� �
�
���
A�� $��
���9
�9��	�����!�
���
��
�J�
%�
� -
 ���"�
���� '
�<

�� 5������� 
@� ;�
��#���"�� � ?
�$
�
����
*
��+�"�
���$�����������"�� ��
� ���"6���
�(��"" �

�

� 6E��
$�$1�>��)5�($ B$��D@�$�� /�
�

A��
��� � �?�< ���<�� ����<� V> $��$�� ��6<�� <��� 6V $� ��=V> $���� �=���� �E�E �$ ����� V> $����
���$ ��>����B ��<?�� <���$��=�����V 6E��$����>�<><�� ��<���=�����?=�%�� ���$�$�$=�� ������ �?�< ���
���?=��$���� �������$����$�2$����$��2� �C��<?���< ��� �?�< ���<��$B $����5����������������$�
/++;,/+)+� B$� /+)+,/+))� $>����,V> $���� %<�<���5� ��=V> $���� �=���� <���� 6V $B� %�1���
V> $��$��$ � ���?�� ��?�� �� � �?�< ����� $B $���� �����<��� ���?<����<� #$�$3�$���>���$��
V �$=�$�� ��<����<?�< �� � �?�< ��� B$ ��$ ����� ��1������<���� aD 6E�� (�>�<><� ��B���$ �b� B$�
aN=����E�E �$ �����D> $����
��$ ��>����B ��<?�� <���=$��b�=�����<��<?�< ��� �?�< ���<������
1 �2�$��$ �����CV@E��$��$�������<%���&$� �������$���$ ��� 1<���� $�[�%��������%<�<�' 0�
B$���=�����> �����
$6 $�%��������@��=�����<��<?�< �����6��� <��$>$ �$��� ��>���@�$Q�V> $����
���$ ��>��B$�V 6E����>�<><���$���6�����$>�?=$��$ �� ��<�=� $���%�������C�� <�%E=�$=��E@$%�$�1�@���3�
%V��E� ���?=��$ ��� B� �<><��� �?� $�� $��$=�$�� �� 
$6 $�%��� �����@�� ����C�� <��� 6V $� ��$� �=���
�E�E �$ �����V> $�������$ ��>����B ��<?�� <�<��2E�E��2�%���� ���V 6E��$����>�<><��������<�2� �
%� ��%<�<�<�����>��2������?�� ���
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"#$� ���� �3� �#��� ����%� ��� ��� ����%@$� �#$�  $�������#�1� 2$�L$$�� ���� ��������� �$��$ �#�1�
2$#�B�� ���3�1 ��� %���#����1 ����1��������� 6���@��������#$���#��3��#$���#��������� ���6����
�$��#$ � 1$ �$1������� "#��� ��� �� �$�� �1��B$�  $�$� �#� ��� �#$�  $��������� �� B$%� ���$��� "#$�
1�1���������3��#$�����%�����$��#$ ��L#��L� =�����#$�1 ��� %���#������������������1 �B���$�
��� /++;,/+)+� ���� /+)+,/+))� ���������� %$� �� )+-I� �$��#$ �� L#�� L� =� ��� �#$� J+� 1 ��� %�
��#����� L$ $�  $��#$�� ��� �#$� 1 ��$��� �3� ����� ����$������� ��� �� ����� ����$������ ���� ��$���
aN 6���@���������$���#���B$��� %b�����a���� ���������
$��$ �#�1��$#�B�� ��g�$�������� $b�
L$ $� ��$��� &$� ���� & �����,���$���9�  $�������9�$33���$��5������1�$� 
��$� �
$6 $������
����%�$�� L$ $� ��$�� ��� � �$ � ��� ����%@$� ������4#$�� ��  $�������  $������ � $� ����%@$�5� #�6#�
��6��3������1�����B$���  $�������#���2$$��3�����2$�L$$���#$�B� ��2�$�� $���$��������� ���������
�$��$ �#�1� 2$#�B�� �� ���� � 6���@�������� #$���#� �3� �#$� ��#���������� ���6� ��� �#$�  $������ �3�
 $6 $����������%���5� ��#����1 ����1���]� ���� ��������� �$��$ �#�1�2$#�B�� ��L$ $�3��������2$���
��6��3������1 $����� ��3��������$��������3�� 6���@��������#$���#��

'�+���!�/�(�#����1 ����1��5����� ����������$��$ �#�15�� 6���@��������#$���#�
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D> $���� ���$ ��>�� B$� V 6E�� ��>�<><� =�B ���� <� ���� %<��� ��� E@$ ���$� �<=C��
�� ����� B$� � �?�< ���� �� =���� ����� =�B ���� �< �� N=���� <�� #$�$3� B$�
���C�� <�����#�� �%�����?�2���$��� �C����=����=�� �E��C��<?���� <��B$�V> $����$ ���
#$1� 2� ��=�$� #� $=$�� $��$��5� =� � �� �� =��<����<5� #$ =$���� V@6E �$� =$����
�E?E��$����� �V%�$%$2���$��5� �%6������� <� B$� ��<���� =� � �� <� 2$����$�$��5�
�$>�?��$� �%��� ��>��%�2���$��� V�$�� =�@���<?�< �� D 6E�� ��>�<><� B$� V> $����
���$ ��>�� �?�$� 2�� ��=����� ����=C�� V�$����� �� �E�E�� �=��� �E3�������
��B ��<?�� <�<� ������� %�� ��� ������@� %V��$� $�=��$%$�� B$� %V��$��� $�� V> $����
���$ ��B$��=�����V 6E��$����>�<><��=�����2�?� <�<����%��2� ��$��$=���=���<�%�����
2E%E=�2� �$�6$�����2��� ���

N=����=�� �E�� $�=����=�$ ��� 2�?� <%�� ���?���<���� ���#�� � =�?�� %V�$������ �
'�EC�E5� );;J0�� D 6E��$�� $�=����>�� ��>����=� �C��� ������ B$� ��>$ � =�%��=�� <�
���C�� <� 6$ C$=�$?�� $�$=� 2�C���$� �E@$��$�$=5� %V�$�������� 6V $B��� � '���<=5�
);;J0�� �V�$���� 2�%�������� ���$�$���>���$� ��>�<=�<� �=��Q� �=���� =�%��=�
��>��%��5� 2�� =�%��=�� <� ��><���5� �=����� ���C�� <�<� 6$ C$=�$?�� $2���$��� �C���
C��<?���� <��� %V�� B$ $�� B$�  $#2$ ��=� $�$2��$�� 2� � �=����E�E E�E�� 2������>��
�=���� ��D> $��$���C<�<�����2�=<��<><���5�V> $��$�B$�V> $��$����$��B$ �����
?$=���$� %E E�E��E>E5� �=��$��=� 2�?� <�<�� V�� 1����� C<=�<><5� V> $��$���� #$ �
?$%�$�� V��$� 6$���>�� 2� � ����%<?<�� $6$�$�� ����>�� 2� � � ���� �����<���
6$��$=�$�� ���>�����%V�$�������������=����E�E �$ ������=���� <�<�B$ �����B$��?�$ �
�� ����6$�� $2���$�$ �5��=���� <�<����>�<=�<�2� �%�1<��������<�<���>������ <��C���
��#�1�����=�� <����$ ��=�V@$���=�$ ��V�$����� �'�����5�/++)0��

N=����E�E E� ��>�<=�<� �=��� � ���<�<� ��>����=��� %E=E��E�E ��D 6E�� ��>�<><�
����$���� �$?#��� =�%���� � B$� V��$�$� 1����� <�<�� %�1<����<� ��$� 6$��?�� ��$2��� �
'9#���$ �� B$� 7�� ���5� );.I0�� �>����� %V�$������Q� V> $��$�5� 1$ ���$�5� V> $���5�
B$��5�C$B $����$ �$ �5�%$ $��%V�$�����$ �B$�1�����=��<�� �6�2��3� =�<�$>�����B$�=E��E �
�E@$%���$� 2������5� 3� =�<� 2$=�$����$ �� ����� V>$�$ �$� ���?=�� =� ��=5� ���� <��
2$=�$����$ ���� 2�>��?�< � �=� %V�$����� �E �E �$=� �� �������< � '��%�5� );;I0��
������ �C��� �$� %V�$�������5� 2$�� ��� 2� � ��B ��<?<� 6V��$ �$=� �� ������� ����>��
�V%�$�$2��� �� �V�$����� ��B ��<?<Q� 2� $%� B$� 6 �1�� <� #� $=$�$� 6$C� �15� V��$�$��
2$�� �$���?�#$�$3�$ $�%V�$��$2���$���B ��<?<�< �������B ��<?5����<����2� ����$ ��=�
�� ����� �'�� ���<�>��5�);J;0��

N=��� �E�E �$ ����� V> $���� ���$ ��>��  ��E� ���� %<��� ��� 2�� =�����=��
� �?�< ���� <�� ���=� ��=���<�<� ���?�� ��=���< �����<���� #$ � 2� �� V> $���� ���$ ��
������=����E�E �$ �������>�<=�<�2� ��=���%�1<�<�<����?�� �2���$�$ �� �C���V> $����
���$ ��>����B ��<?�� <�����#�1�������E@$%�$ ��C�=�V�$��=�@����=���< ���

�� =��@�'/++G05��<��< <��'/++I0�B$�9$����>��� '/++J�0� �� �3<�����%�1<����
� �?�< ���� ��=���%V�$�����$ ������$ ��=������$ �����V 6E����>�<><�<��2� �%� ��%<�<�<�
����>���� � ��%�� =�%��?�� �� N=��� �E�E �$ ����� V> $���� ���$ ��>�� ��B ��<?�� <�
V 6E����>�<><�<��2� �%� ��%<�<�<����2��� ���� �V> $�������$ ����� �=��=����E�E E�B$�
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����� ��B ��<?�� <� �=���� <�� ��>�<=�<� %�� ��� ��>�<=�<@� �����<�<� �$�$��$��
$�=��$%$2��$�$=� $�� V�$���� V>$�� ��N=����� V 6E��$�� ��>�<><�<� �%��$?�� �$�$� �=���
�E�E E�E�� V> $���� ���$ ��>�� ��B ��<?�� <�<� �$ 6��$�$� �E@$%�� 2$�� �$%���� 2� �
$�=�%$���#�1�� ���

D 6E�� ��>�<><� B$� V> $���� ���$ ��>�� ��$� ��6���� ��� �=� %�2���<� ����%�@<���=��
C��<?���� �� 2�=�<><�<@��Q� �=��� ���$ ��>�� B$� V 6E��$�� ��>�<=� '7��$6�$ 5� );.-05�
V 6E��$����>�<=5��=��$��=�2�?� <�B$��� ������ ���$ ��=�'� $6� %5�);.I05��=���
�E�E �$ ����� =$����$ ���� 6$ C$=�$?�� �$�$ �� B$� V 6E��$�� ��>�<=� '(�#$  $%5�
);.;Z���� �=�� ��������5� /++)05� �=��� ��>�<><5� �=���� B$� $�=�����=� '��%5� "� �$ �
B$������5�);;+05��=�����>�<><���$�=��<�<��<�%V�$����'
�����5�);;+Z�����=�� ���
�����5� /++)05� ��=V> $���5� � ���=��� B$� ���$�$ $� %V�$��=� V 6E��$�� ��>�<=�
V�C$>����� 6$��?�� ���$��� '��%5� "� �$ � B$� ����=��15� );;)05� V 6E�� ��>�<><� ��$�
�=�����B� 6�������V> $��$���%$�=��$��� �$����$=����>��'� ����5�);;/05�V 6E��
��>�<><5� C��<?��� V@$���=�$ �� B$� %$����=C���=� '���1����� B$� (����2$��5� );JG05�
V 6E����>�<><�B$�%$����=�#�==<���=��V> $��$������6��2�����=�� <�'��#5�);;/05�
V> $��$�� %$�$ ��=� ��%6���� ��$� �=���� <�� V 6E��$�� ��>�<><� '��%� B$�4���3��=5�
);;*05� V 6E�� ��>�<><� B$� �����%$�, ��� ���<��� <� '����$ 5� );.*0Q� =�?���=� B$�
V 6E��$�� ��>�<=� '����$ 5� � �33��� B$� �� �5� );;;05� V> $��$�� �����<?�<><� ��$�
�=����� V 6E��$�� ��>�<><� '"���� B$� 9#$�65� );;;05� %E=�$=V> $����$� V 6E��$��
��>�<><�� V�CE��$��� '����6$�$5� 
%�$�� B$� :��6#��5� /++)05� ���$�$ ��� V 6E��$��
��>�<><� '��%� B$� 7$�����5� );;;Q� (���#5� ��%� B$� (L$$�����5� /++)Q� (���#5�
/++/05�V 6E����>�<><�B$�V> $����2�?� <�<�'�������5�);;/Q��$��$ ���5���$#�$ 5�
(�$��5� ������5� 
�2������ B$� ��3� �5� /++GQ� ��%� B$� ������5� );;JQ� ��%5�
�������B$�"��#���$�,�� ��5�);;JQ�
��$%5�9��$����B$�(�#���#���65�/++J0�
��$���6����� �?�< ���� �%�1<��<?�< ���

�� ���C���$���$�V 6E��$����>�<=�'�=2�2�5�);;JQ������5�/++)Q��%��C5�/++*Q���=< 5�
/++/Q� ��2��5� /++JQ� ��#��5� /++GQ� �E =��5� /++IQ� �� �=�?5� /++.Q� "$=��5� /++GQ�
O ��5�);;.�5�);;.25�/+++Q��<��< <�5�/++I05�V 6E��$����>�<=���$��$�6$�'�E�$ 5�);;J05�
V 6E��$���=������$�V 6E��$����>�<=�'�E �$�5�);;.05�V 6E��$����>�<=���$�V 6E��$��2�>�<�<=�
'9$�$1� B$� �$�$5� /++G05� V 6E��$�� ��>�<=� ��$� V> $���� 2�?� <�<� '�� =��@5� /++G05�
2E �= ������$�V 6E��$����>�<=�'�=<�5�/++GQ��� �����B$��=<�5�/++G05�V 6E��$����>�<=�
��$� �$��6 �3�=� ���$��=�$ � '9$����>��5� /++I05� V 6E��$�� ��>�<=� ��$� ���$ ��=� �����$ ��
'9$����>��5� /++J�Q� �� =��@5� /++GQ� /++JQ� �<��< <�5� /++I05� V 6E��$�� ��>�<=� ��$�
%<��< ��� '9$����>��5� /++J205� V 6E��$�� ��>�<=� ��$� V 6E��$�� B������?�<=� '����C5�
/++.05� V 6E��$�� ��>�<=5� �V�E?E��$�� ���$ ��=� �����$ �� B$� %<��< ��� '9$�6�@5� /++.05�
V 6E��$�� ��>�<=� B$� �=��� $�=���>�� '"E =$ 5� /+)+0� B$� V 6E��$�� ��>�<=� B$� ��@�#�
'D@�$�� �B$�
$�$1�>��5�/+)+0���$���6����� �?�< ���� �%�1<��<?�< ��

��� C��<?����� ��=V> $���� �=���� �E�E �$ ����� V> $���� ���$ ��>��
��B ��<?�� <�<�� V 6E�� ��>�<><�<�� 2� � %� ��%<�<�<� ���1� �����<><� ���$�$���?�� ��
N=����� V 6E��$�� ��>�<><�<� ������� %�� ��� ������@� ��� �=� $�=��$%$2��$�$=� $��
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V�$���� ���� � 2� � V> $���� ���$ �� ��� �=� �=��� �E�E E� B$� ����� ��B ��<?�� <�< ��
N=����� ��>�<=�<� %�� ��� ��>�<=�<@� �����<���� �=��� �E�E E�E��  ��E� ��>$ �
$�=$��$ �$�� ��#�� 2$�� �$%����� �� ��� =���� ��$� ���?=���� C��<?���� <�� ����%�@<����
$=��=��>�� #���$����$=�$�� �� ��� C��<?����� V> $���� ���$ ��>�� 2$?� 2�%����� 'N=���
���C�� <�<��2$�� �$��$���B$�1�%��?<����<5�$>�����1 �6 ��<�B$�V> $�����E $������
%V�$����5� V> $���� �E $������ B$� V> $����$ ��� �$>$ �$��� ���$��5� V> $��$��$ ���
�$��$=�$��$��� B$� 6$��?�� ���$��5� �E@$���� V> $��$,V> $��$� C$B $��� B$� �������
�=��� �=����� ���?�� ��0Q� V 6E�� ��>�<><� ��$� %$��� 2�%����� '�� ������ 2E�E��E=5�
�E�E E�� $�=���5� �$@�=$�5� �$?B�=� $����� %�1<5� =�%��=� �$��$>�5� �� ��5� �=��$��=�
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D 6E�� ��>�<><� =�B ��<5� ��=� =$@� );G+Z��� %<��� <�� ����� <���� � 6% ��� �� �3<�����
=�����<��<?� �����<���  �>�$�� =�B ��<�� 3� =�<� 2�%���� <� ��$� 2� ��=�$� �C<=���� �=�
6$��?�� ���$��� );IG� %<�<���� ����#$L� ���$�� �� �3<����� %�1<��<?�< �� ���$�� ');IG05�
�=���� ��=��%$����=C���E $C�$ �����$�$��?�B$�C$B $����B$ ������=�E@$ ���$=��$�=������
B� 6����<?�< � B$� V 6E��$�� ��>�<><�� ��� 2�%������ ���?��>���� 2$�� ���?�� �� ���
2�%���� Q� ���C�� �� ���=������ '���C� 2� ��>�05� ��$��?��� %$�$ ����>�5� �%6��� 6EC�
�$�6$������?�� ���'%$�=����� ��%��$����><�<�<05�=�%��=�� <��=�����<�<5�=�%��?���
'2�>�<�<=05��� ��5�%$����=C���=5�V@$ =��=5��%���B$�1 �2�$��CV@�$�%$�$ ����>��� ���

���$�� ');IG05� ��>�<=�<� V 6E��$ �� B� �<=�� <�<� �E �E �$���� %��<���5� �@���
�E $�$�%$�$ ���2� ��E���$�$%$��$B���$�$�5��E $=���6$��?$�5�C$B $�$���$>�?���$ $�
�%���B$�#�%�����=�����%$�$�$=�$ ����6$��?�� $��V 6E��$ ���� �=��3��$�$��$=�$�� ��
(�>�<=�<� V 6E�� ���$�$� C$B $����$� %�?��<�<� �E �E �$=�$� =����@5� �@��� �E $�$�
�$B���<� ��� �=� 6$��?� 5� 2�?� $��$� B$� %�?���� %$�$�$=�$ ���� 6$��?�� � �� (E $=���
��� �=�$�=��������%���2� �V 6E��2E%E=�2� �����<�<=�����>�<=�<��$>���� ��(�>�<=�<�2� �
V 6E�� =<��� �E $��� 2�?�� C<=��� %$�$�$=�$ ����� ��1���<%��� $��$� $����$=�$�� �� �� �
V 6E�E�� =<��� �V�$�� �?�$%�?�� $�=���� B$%�� $�=���@� ���2��� � 3�=��� #�%����� =����5�
1 �2�$��$ �$� %$�$ ��� �E@$%�$� 2�?�� C<=��� B$� 2E%E�$� �E $=���� �� ��==���
$����$���� �=��2� �V 6E��=<����V�$��$�$�=����2� �?$=���$�2�?��C<=���%$�$�$=�$ ����
=������2��� Q� 3�=��� 2�� =<��� �E $��� 2�?�� C<=����@��� B��$��� �?� ��%����@��>�� 6�2��
��#���@����V�$���$>�?=$��$ ��$�=� ?<�<=�$��$�$����$=�$�� �'���$�5�);IG0��

(�>�<=�<� V 6E�5� 6V $B�$ ����5� %�?����<�<�5� 2E%E�$������ B$� %$���$?�$������
6$ $=����$�$ ���� =� ?<��%�2���$��Q� C��<?���� � B$� ��=<��� � � ��<���� � ��%�� C<=���
C��<?���� <5� ���C�� <� ��> ���������� %V�$�$2���$��� B$� C��<?���� <�� V 6E��$��
@� �����%���E?E E��$�$��V 6E�$��%������ ��>��%�2���$���� � '��?� ��5� );;.0��
��,��6$�');.+05�V 6E�E����>�<=�<������<��� ��������E@$�����?�$%$�$>�5�E E��B$�
#�@�$��$ ����� $�=���� B$� B$ ����� �����><� 6V E?E�E� ��$ �� �E �E?�E �� 9#���$ �Z��
');.G0�6V $� ��>�<=�<@�V 6E��$ � �?�$B�$���$>��=$�5� ��>�<=�<�V 6E��$ � �?�$B�$��� ���� �
V 6E��$=����>�<><���E@$%�5����C�B$�#$�$3�$ ����2�?� ���%$�$�$>����$����?=����� ���
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%� �<�� $���>�5� C��<?��=� �C��� ��$��� %$ �$ �� �� N=���� � ��>�<=�<� ����>�� @�����
V> $��$��$ � ��#�� E $�=$�5� %V�$�����$ � ��#�� �E?E��$��� B$� V> $����$ � ��#��
2�?� <�<�< �� �>����� =� ���� <� �C<�<����� V 6E�� ��>�<><Q� �=����� 1��=�,���%���
�� ������6V��$ �$=�$�� �'��%5�"� �$ �B$�����=��15�);;)0���

(�>�<=�<�2� ��=��Q�$�$ W������6V $B$�%V�$��� 5�2���=�����V> $���5�V> $��$��B$�
%V�$�����$ �� ��<���=�����?=��$ �$��%���B� �< �B$���>�<=�<��=���� �%E=�$=��E@$%�$�
2�?� <�<��=���� �< �'��%5�"� �$ �B$������5�);;+0���� ��=����=��V 6E��$������<�<=��$�
=��� � ��>�<=�<� ��� ��5� �=����=�� 2� $%�$ � B$� %V�$�����$ � 2� 2� �$ ��$� �� =��� � C�=�
6EB$�� ��%� �� � '��%� B$� 7$�����5� );.J0�� D 6E�� ��>�<><5� V 6E�E�� ���C�� <���
���?�2���$� 2�?� <�<%��� ��6����� �� �>$ � 2� � V 6E�E�5� 2� � 3��=��%���� �E@6E�� 2� �
2�C���$�C��<?��@�����>$ �2�%���� ���2� 2� ����$�=��$ �B$��E������$��$�1 �2�$��$ �
�$%�����6$�� � �'9#���$ ��B$�7�� ���5�);.I0��

��%� B$� 7$������ ');.J05� �=��� ��>�<><�<� V�C�$%�� ���C��%��� %$��� ���� 2�%������
���?���V 6E����>�<><�V�C$>����6$��?�� ��?�$ �� ����%5�"� �$ �B$�����=��1Z<��');;)0�
=���� E@$ ���$� %�1�<=�� <� � �?�< ���� ��� ��� �$��$=�$�$�� V 6E�� ��>�<><�<�� ����
2�%���� <�?���� �< �'��%�B$�7$�����5�);.JQ���%5�"� �$ �B$�����=��15�);;)0!�
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� � *���� ��=� N=����=�� �E�� C��<?���� <�� �=����� ���C�� <�<� =�2���
$��$�$ �5� �=����� ���C�� <%��� 2E�E��$?�$�$ �5� �=����� $>����� 1 �6 ��<�<� B$�
B�@%������=�2���$��$�$ �5��=�����C$B $����$�V 6E��$���?������6 �1�� �����$��?���
�C$ �����$� ������ <�<� �3��$� $�$ �� N=��5� $>����� 1 �6 ���� <%��� 2� � 2E�E��E=�
�C$ �����$�� �����2�%��5��<?�C$B $�$��6$�$�$=���# �1�$�����2��=<�� ��=� ?<��=����5�
2�?� <�<� 2� � ?$=���$� =� ?<� =�%��� %$�$�$>��$� ��#�1� �����<�<� �3��$� $�$ ��
D> $��$��$ 5� ���$�$ �$�� B$� C$B $�$�� 6$�$�� ��=��� ����%��� ���$=�$ $� =� ?<�
=� ��� ��N=��5�2�����$=�$ $�2�?� <�<�2� �?$=���$�=� ?<�=�%� ��
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�+���	$����4��,=�N=���%V�$��������%V�$��$��$%�$��$ �$=��2�?� <�<�<��3��$�
$�$ �� N=��� �E�E E�E�� 6V $B� B$� 2�?� <%�� %V�$��=� ��B ��<?�� <�<� �C$ � �� N=���
�E�E E� �=����� 2�?� <�<� �C��� ��#�� V��$�$�� 2$�� �$�$�� 1$ 3� ����� ������ ��� <�
��> �������������C�� <�6$ C$=�$?�� �$%$�C��<?< �B$�V> $��$��$ ��$������$��$=�$ ���

D�� 3
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�=� N=��� �E�E E�E�� C��<?���� �� =� ?<� 6V��$ ��>�� ����C�5� ������5�
�$��$=�$%���� B$� �$��$=��?�� <� ��$� �?2� ��>���� �C$ $�� ��B ��<?�� <�<� B$� �C<=�
��$��?������ �3��$� $��$=�$�� ���E�E 5� V> $��$��$ ���  $3�#<�<� 6V@$�� � B$� ���� <��
V�$ ��$ ��$� �C<=�< �� N=��� �E�E E�� C��<?���� <�� �$�$�� #�=� B$� V@6E �E=�$ ��
=��������� ��%� �<�< �� ��� ��B ��<?�� � C��<?���� <�� 1$ 3� ������ <�<�� � ����<�
�C<�<�����V�$����� ��
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%$�$�$>��� �� �E�E � �C<=� ��$��?��� B$� =��<�<��<� %V�$���� ��%$����$� V 6E��$�� E���
����$������ =� � �� <�<� $�=��$%$2��� �� ��=��$%���� �E�E 5� �����< <�<5� 2�><��<@�
�E?E��$� B$� $%�$�$� 6$C�$5� $�=���� C��<?��� %$�$�$>��$� ��#�1�� �� �% <��� �=���
�E�E E� $>����� 3����%$��$ ����� ��#�� $�=���� %E E�E��$��� �C��� V �$=� ��� 5�
V> $��$��$ ��%V��$��� � �B$��$?B�=�$�$ ��
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R���"�� =����<?���� �� ��<����� ��=�2� ��C<=�<=5����$=����=5�� =���?�<=�B$�6EB$��
��%6����� �� ���<?���� 5� � =���?�� <� #�==<���� �%�� ?$%�$ � �E?E�E 5� ���� <� �$B$ 5�
���� �� =� ?<� #�?6V E�E�E � B$� 2� 2� �$ ��$� %� �<�� $�$ �� �% <��� C��<?���� �
�=���� <%���6� � ���%� 5��?�$ �����$B$ �B$��?�$ ���$�2�?� �����%6����#���$�$ �$ ��

S�����$
����9#��#=�N=����5� �=��$��=��E=$��$���>�� � ���%�� 6E�E�$��$�
�$ $�$���� ��N=���� �2�?� <%�����=���< ��D> $����$ ��C���%E=�$=�3�=������?<��2��� �
6$ C$=C�� ���C�� � ���?�� ��� �� D> $��$� C$B $��� �E@$���� B$� ������� ��
D> $��$��$ 5� V> $����$ ��� 2�?� �2��$�$>��$� ����< 5� V> $����$ � C�=� C��<?< � B$�
�=��$��=���� �=��%��%�1<����� ����%6<���%� �� ���

�������2�%���� <�=� �����5�%V�$��$��B$��$=��=��E@$%�$�V 6E����>�<><�2�%���� <�
��� �=� 6 �1����< ��=� �E�=E��E �� ����� 6V $� =� ������ �E@$%5� =� ������
2E�E��E=Q��V�$����$���E@$%5��$?B�=�$�����%�1<5��$@�=$�5��E�E E��$�=����B$�=�%��=�
�$��$>�Q�"$=��=��E@$%���$5��� ���B$��=��$��=�B� 6��2�%���� <��������?��=���< �
'��%�B$�7$�����5�);.JQ���%�B$����=$�5�);;)Q���%�B$����=$�5�/+)+0��

�E�E�E@�$� �=���� <�� V 6E��$�� ��>�<><� ��$� ��6���� C�>�� C��<?����� ��%� B$�
� =���?�� <��� �3<�����6$��?�� ����?������2��2�%���� �B$�2��2�%���� <��$�$�������
V 6E�� ��>�<><� V�C$>�� =�����<���=���< � '����C5� /++.Q� 9$����>��5� /++J�5� /++J2Q�
�� =��@5�/++-5�/++GQ�(���#5�/++/0������ �?�< �����=�����<����=�V 6E��$����>�<=�
�<�<3�����<� ��� ��%� B$� ��>$ �$ �� ');.J5� );;)0� �� �3<����� 6$��?�� ��$�� 2��
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D> $����$ �� 2� C�=� %V��$�� #�%���� #�@< ����� ����<� B$� #$�$3���$� �����
�=���� <�� 2�� ������ ���?���<���� V> $���� ���$ �� ��� �=� $>����� %V�$�����$ �����
6V $B�$ �� C�=� V�$�� � @� $��$=�$�� �� �E�=E� �E�� $>����,V> $���� 3����%$��$ ����
%E E�$�$=5� ���� �� %V�� B$ $�$=� B$� 1$��6�W�=� 2� � ������ =�@���< ���=� ����� #�C�
?E1#$��@�V> $�������$ ��� ��

�>����� ����$����$� 2E�E�� �$B�%$�$ ���$5� V> $��$���=�$�� �E�E �E>$� =��� �
���$ ��=� V@$���=�$ �� �$ 6��$�$2��� � ���� �=����E�E E� =������ �$2$2�%�$� ���#�� �
2� � ���$ ��=� 1�@��%������� 2������=���< � '���6���� B$����1#$ ���5� );;/0�� ���
�$�$��$� V> $���� ���$ ��>�� �$�����>���$� ��=� ��� �=� V> $���� ���$ �� ��� �=� �=���
�E�E E��E?E�E��$=�$�� ��N=����=��$>����,V> $����3����%$��$ �����%V�$������$�
B$� �?�$ ��>����� ��>������<���� �=��� �E�E �$ �� �� ����� �������=���< �� N=���
�E�E �$ ����� 2��6�5� 2$�$ �� B$� ��B ��<?�� <Q� �%6����<=�� <� �$=��=� B$� %V��$��$ 5�
�$C��>�� %V�$���� �E $C�$ �� 2���� %V�$��=� ������� <� V> $���5� V> $��$�5� ��>$ �
�$�� �=�� ����B$�B$���$ �E@$ ���$�$�=��������=���< ��
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N=���V> $����$ ���#�%����#�@< ������� <����V@$���=�$��$�6$�$�$=�#�%���� <���
%V�� B$ $�$=� $>������� B$ ���$����$5� V> $����$ ��� ��6�5� %$�$�$=� B$� 2$�$ ��$ ��$�
�%6��� �$��$=� �$C���� %�1���� <���� C�=� V�$���� 2� � �V�$��� �3��$� $��$=�$�� ��
�$��= ���=�2� � ��1������@� �����$>�����������>���=���� ���V> $�������$ �����
6$ C$=�$?�� �$��� 6$ $=$�� $�� V�$���� @� ������=5� 2E�E�� V> $����$ ���
V> $��$�$ ����6$ C$=�$?�� �$=��C���$�=�����=���� �%� ����=�< ��(���#�B$���� $L��
');.;05��=����E�E �$ �����$�=�����=���� �%� ���2���$�$ ���C���1 �3$�%��$��2��6��B$�
2$�$ ��$ ���� =������ �=� V> $����$ ��� �E�� =�1����$�$ ���� =��������� <�<�
��>��%���=�� ����� <����?�� ���� <�6$ $=��>�����3��$�$��$=�$�� ��

N=��� �E�E �$ ����� �=���� ��� V> $���� �$ =$@��� $>����� ����%<?<�����
2�?��%� �=5� V> $����$ $5� C��<?���� <��� B$� V> $���� B$���$ ��$� $�=�� $�$2��$�� B$�
���C�� � ��> ���������� %V��$��� �$� %�1�2��$�� 2� � V> $���� ���$ �� �����<�
=� ������ �?�$ ��>��� ��>������<���� 2E%E=� V�$�� ��?<��=���< �� ������� ����%<�
�=��� %V�$������$� V�$����  ��� �%��%��� �=��� �E�E �$ ���$�� V> $���� ���$ ��>��
��B ��<?�� <�����#�1������� <�2$=�$��$=�$�� ��
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);.+Z���%<��� ����$�$��2� �%V�$���� ��E���� �=�� ��%��C<=���V> $�������$ ��>��
=�B ��<�V> $����B$�1 �6 ��<��=��� ���B$�=�� ���$�$����$���$���%����=���< ��
����=� 6��$ $=� �=��� ���$ ��>�� ����<���� �=���� %$���$�� %�1<����< ��� %�=��?<�<�
��#��C�=�B� 6������%��2�?���<?�< �'����<5�);;*0��D> $�������$ ��>�5� �%��V> $����
%$��?�� �$� B$� V> $��$��$ � �C��� ��#�� � @�� $���� � V> $��$� =�?���� <� ��>����%��
%V�$��=� ��� �=� �=����� C��<?��� C$B $������ ������� $����� B$� E $�=$�� 2� � C$B $%$�
�V�E?�E E��$���$%�$��$ �����3��$�$��$=�$�� �'�$��=5�/+++0��

D> $���� ���$ ��>�� $>����� 1 �6 ��<5� �=��$��=� 2�?� <� B$� V> $���� �E $��� ��$�
��6���� $�=����=�$ �� �$ =$@$� ����5� �=���� �� V@6E� 2� � ���$ ��=� %�=��?<�<�< �
'������6$ � B$��� 1#%5� );.I0��D@�$�� � B$�($@6��� '/++/0�V> $���� ���$ ��>�� ��$�
��6���� ��� �=� �=��� %V�$���������� ��<�� %$ ����� ��=��� ����<� �$>��5� �<�<3� B$�
=� ��� �� � ����>���� �3��$� $��$=�$�� ������� ��5� �=��� %V�$������$� %$��� 2� �
����%<?<� � ��%�� C<=� ��=���< !� N=��� %V�$���������� ��<�� �?�5� V> $���� �E $���$�
���$ ��=�$��$=�� ��

D> $���� ���$ ��>�� �=��� %V�$�����$� �%6��� ��� �=� 6$��?�� ����?�� �� D> $����
���$ ��>�� %�=��?<�<5� $�=���� �=��� � �?�< ���� <�<�� �$�$����� ���?�� ��=���< ��
D> $���� ���$ ��>�� �=��� %V�$���������� =����=�  ��� B$� ���$ ��=� ����%<?<�<� =V=�E� 2� �
?$=���$��$>�?�� ��?�� ����=�����$ ��=�%�=��?<��� <�����=���%V�$����������2� ���=<��
%V�$��$��  ���$ �� V�� 1����� C<=� =$�5� V> $���� ���$ ��>���$� V> $����� 6$��?�� �$�
�>< �<=�=�@���<?�< �'�EC�E�B$�D@�$�5�/+++0��D> $�������$ ��>�Q�V@B$ �5��$>�?��$�
�C<=� ����5� �E $=��� 6$��?�$� B$� 6$��?�� �$� 6$ $=�� � ��D> $���� ���$ ��>����� V@E�E�
%$��� 3��=��%��� ���?�� � !� ��� �����%��5� 1 �2�$�� CV@�$5� V> $��$��$ ���
%V�$����� B$� 6$��?�� ���$��5� �$>$ �$��� ���$��5� V> $����$�� %V�$���� B$� �$��$=5�
=�%��=�%V�$�����B$�=����$����=��� ���$����$���'S$�=���5�);;)0��
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S$�=���� ');;)05� V> $���� ���$ ����� �@����<>�� ��%��� �=� $>����� B$� V> $����
6V $B�$ ���� %$ ��$� 6$�� $�5� %V�$���� �E $C�$ ���� $�=���� 2� � ?$=���$� %E E�$�5� $�=����
2� � ��$��?����� B$� V 6E�� =E��E E�E� ���?�� ��� 2� � ���$ � ����>���� �3��$� $���?�� ��
(���#�B$���� $L�Z$�');.;0�6V $�V> $�������$ �����V@$���=�$ ��?���� �< !�

�� O%6��� B$� $�=���� $>����� �� ��$W��$ ���� �$>$ �$��� �$� B$� 1$=�?�� �$�
%$�$�$>��$���#�1�� 5�

�� �>������6$��?�� �$=��C���$�=����$>������� ��$W��$ ����=������ �=�1$ ���$���$�
%���6V��$ � �B$��$�$��$ 5�

�� �>����� 1 �6 ��<�<� �$>$ �$��� �$� �?����<���5� V> $����$ ��� $>�����$�
��> ��������?=����1$ 3� ������ <���2�=� 5�

�� D> $���� ���$ �� 2V�6$���� 1$ ���$�� �$>$ �$��� �$� 'V�C�$0� 1�����=��� <�<�
2�?� <�<�2� �?$=���$��%6��� 5�

�� �>�����1 �6 ��<�<���%6�������<���5�V> $����$ ���V> $��$�#$�$3�$ �����
�$� =��� � V�$���� ����>���� 2��� � B$� 2�� #$�$3�$ $� ���?<�<1� ���?<����<><���
2�=� ��

��=� <��=�� V@$���=�$ $� ��#�1� ����� V> $���� ���$ �� �%�<� @������Q� =�%��=�� <�
�$���� $�$ 5� #$ � %$ �$� 6V E�E � B$� ��$��?���� ��>�� �� D> $���� ���$ �����  ��E�
�=����=�� 2E�E�� $�=����=�$ �� =���%��?�< ��=�< � '(���#� B$� ��� $L�5� );.;0��
D> $�������$ ��>��2$?�2�%������C<=����2��� !�

C����# #�����) ��,�,�*
 �� 
�
�+
�5�! ����=��$ ��E �E�$>���$��$�=����=�$ �$�
����>��6�2���=���� <�����V��$��=�$����?��=����$��=�$ ��2$�������C�� <�<�������<5�
�$�$�� 6$ $=����=�$ �$�� 2� ��� �� N=���� � 2$�� ��� ���C�� <� �����<� 6$ $=$�� 2� �
V 6E��E �� ���C� 2$�� �$�$�$�� %�1<����=� $%�$��$ � =� ���<=��� %V�� 2$�� �$�$%$�
2$�@$ ��'A�?���5�/++-0��

N=������C�� <�<����6����$ $���%� �����<��C���$�=����2� �#��=������?=��$ �����$���
=� �����<�< �� �E�=E� #��=��� ���?=��$ ��� ����<� C$B $%�$� =� ����� ���C�� <�
%V�E��$�2��6��$��� ����2� � ��$��?���� ���<����?�� �1��?�$��$=�� �����%������=�����
��6���� ������ <�� �=����� ���C�� <����� #�2$ �� � �����<5� 2���� <� 2$����$�$��5�
�$��$=�$�$��5� 2�� �$��$>��� �E �E E��$��� B$� %�>����?�< <����<� 2�?� <��2��� �
'�C<=��<�5�);;-0��
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����=��>�����V 6E�E�E��B� ����?�
�$�$��� B$� �$=� ����<� $>������� ���C�� <��� 6V $� V> $����$ �� %$��?�� �$=�� ��
D> $����$ ��� %$��?�� ���$��� ��$� �=����� $>����� 1 �6 ��<��� 6V $� ��� �� �>�����
1 �6 ��<�2� �2�=<����=�����E $����1�[�<�< �����%E@�$���=����%V�$��$=��$�$=�
���<����$>�����1 �6 ��<�B$�V> $�����%V�$��$=��$�$=�� �'��?� ��5�);;-0��

N=����� 1�[������ %�1��5� V> $���� 2�?� <�<�<� � ��< ���><� �C��� V> $����
���$ ��>��$� 2E%E=� =��=<�<� B� �< �� &�������� %�1��5� V> $��$� #$�$3�$ �����
2$�� �$��$��� 2���� <�� �E $=��� ��� �=� 6V@� V�E��$� ��������<� B$� 2�� #$�$3�$ $�
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���?��%<� ��>��%���=� �� ���� <�� ���?�� �����<��� %� �<��<� ��� � '(������5�
);;J0�� N=��� 1 �6 ���� <� 1������< =$�� V> $���5� ���$� ,� B$��5� �=��� C$B $��5� �?�
�E�%��<5� E�=$� B$� =E $�$��$?$�� �E�%��<�� 2$=�$����$ �� ��==��$� ��<����<�< �
'A�?���5�/++-0��
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=� D> $����
���$ ��>��  ��E5� �=��� %V�$����������V> $���� �E $����� B$� V> $����$ �� �E $=��� ��� �=�
�$�$��$�$�$ ���� 6$ $=�� �$=�$�� �� N=��� %V�$�����$ �5� V> $��$���� aV> $��$5�
��� $� B$� %V�$���5� �$��$=�� =���� ����<� �@����<><� B$� V> $���� ���<?����<><b�
6V $B�$ ������>�������������<�B$��$�$����$ ���$�2�������� ��=��$=��=��=�$ ����
6��$ �$%$� C��<?���<�< � 'D@�$�� � B$� ���<�5� );;.0�� N=���� <�� $�=���� �=���
�����<�<����$%$��%V�$�����$ 5�6E��$ �����2E%E=�2V�E�E�E���> �����1 �6 ���B$�
V> $�����?�$ ��$��%< ��=�@� �����< �� ���E��2�%��=�C<�<���@���� �=�a2E%E%$��
=[><�� %<><��� <b� ��$� �> �?��%<� ��$� V> $���� 2�������$=�� �����$ $� �%< ���<�< �� ��
�E�=E� �<�<3�� ��� %�1<����� ���� #�2$ �� � ����=5� $B �=�� ��� @����� 6$C� �$%$�
6V $� %V�$����%�� ��#�� $�=���� %�1�2��� �� (<�<3� �$�$����� ���������� $��$� $�$�$>��
2��6��$ � 2� � %������V> $��$��� �$��$=�$�$=���>$ � %���������V> $����$ �� C$?�����
%V��$ �� ��$� ���<��=� �C��� V> $���� ���$ ��$� V�$���� %� � �� � ��>�� � '���B��5�
);;-0�� ��=���� %V�$�����$ � �C��� �� ����� V@E�E� V> $��$���� �$=� %���� � �����
6� �$=�� �� (<�<3� V@�E � B$� ����� ��2@<�<� �����=� �C��������=�� �<�<3��� 2������=�
6$ $=� �'�E�E?$��5�);;I0��

�� � �=����=�� $>����� 1 �6 ��<�<�� 2�?� <�<� ���1� �������<�<�� 6V��$ 6$���
2$�� �$�$�� ���C�� � ��> ���������� 6V��$ ��=�$ �� 2�?� <� �$ $�$�$ ��� �� N=���
%V�$������� �=���� ���C�� <��� ���?�< ��=� �C��� �=����� 2�?� <� �� �����5�
V> $����$ ��� 1$ 3� ����<�<� �E $=��� 6V@�$�$��5� �$>$ �$��� �$��� B$� 2�� %V��$�
6$ $=��� V��$��$ �� �����<�< � '	�6� 5� );;I0�� N=��� %V�$���������� V��$��=��� ����<5�
V> $����2�?� <�<�<�� ��< ��=�< �'D@�$�5�/++/0��

F�� � #� #� ��# � �� ���� �
 ������
=� N=��� %V�$�����$ �5� ���C�� <��
6$ C$=�$?�� ��$2��$�$>�� ������� V 6E�� �=������� ���?�� ��=� �C��� $=�1� C��<?���<�<�
�$?B�=� $�$ �$ 5� V> $���� @����<�<� ��==����� =������ �=� �?� 6V $��$ ��� %E=�$=�
���$��>$���#�1������� <� �C������� <�6$��?�� ����1 �6 ���� <��%6���%� �=��=��$��=�
2�?� <� B$� C�2��� <� �$��$=�$%$�� 2� � V�E�� %�1<�<� ���?�� � �� � '�E�E?$��5� );;I0��
N������ V> $��$� �=����� �C��� �<�<3� � ���<�<�� ��� V> $��$%$� �%6��� #��$�
6$�� ���$���6$ $=� ��O%� ���� ��C<�<�����@$�6���2� �� �������#�1������C���=�� �
2���E �C$B $��E@$�������%���C���=�� ������#��3�@���V> $�� �$ �'� �#��5�);;.0��
��=�����=�����2�������V> $��$��B$�%V�$�����$ ��=����6$��?�� �$�B$��=���������<�
�����V> $����2�?� <�<�<�� ��< ���=������E@$ ���$����=����<?�� �< ��N��?�� �����
C��<?��� 6 �1�� <%��� ��>�<=�<� 2� � �=��� �=����� B$� � ��=� 2� � 2������� 6$��?�� �$=�
���C�����=���< ���V%�$�$�$>����,V> $���$����?=���=��$=��3����C����?�� ����%��
C��<?<���=���< �'�$��=5�/+++0���
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=��>�����$��?�6V $��$ ����E $=���2� �%$��?�$��E $����C���$�%�?����� <�
����=C�� V�$����� �� �<@��� C�>����� 2��6�� B$� �$=����W�� =� ?<�<���� V@$���=�$�
V> $��$��$ ��� =$����$ ���� %$��?�� �$�$ �� �$��$=\� 2� � @� ������=�� � '��?� ��5�
);;-0��D> $��$��$ ��� 6V $B�$ ���$�2�?� <�<� ���2���$�$ �� �C���$>�����B$�V> $����
����<���=��%$����=�$ �5�$>������$=����W�����$=��6$��?�$�$ ��%�=<������@�$�$�$ ��B$�
�=�����=� ?<��?�<=�� <�$>������� ���� <�<��CV@E�E�E���>��%���=�%$���%V��$��$ ��
V> $��$�$ �� ��$� �����=�<�< �� ������ �C��� �=��� %V�$���������� $�� V�$����
�� ������=�� <���� 2� ���� �=����=�� �?� 6V $��$ ��� B$� V@$���=�$� V> $��$��$ ���
�E $=���6$��?���$ ������>����=��C���V��$��$ ������=�B$��E@$��$�$�$ ��%�1��=�< �
'�%�<�5�/++G0���

���� �?�< ������=����E�E �$ �����V> $�������$ ��>����B ��<?�� <�<�6V��$ �$�
�E@$%�$ �����$�1���$��$=�����<%���%�=� <��=��G�2�%����$�$����<�� �=�#�@< ������
aN=��� �E�E �$ ����� D> $���� 
��$ ��>�� ��B ��<?�� <� ��=$��b� 'A�?���5� /++-0�
=�����<��<?�< ��

�������������������

���� �?�< ���<������<�V> $��$����6<�� <���6V $��=����E�E �$ �����V> $����
���$ ��>����B ��<?�� <� ��$��=�����V 6E��$�� ��>�<><�� ��<���=�� ���?=�%�� ���$�$�$=�� ��
������������?�2���$=��C����?�><��=���� ��� ���$B�1�� ���<?�< ��

)�� D> $��$��$ ��� ��6<�� <��� 6V $5� �=��� �E�E �$ ����� V> $���� ���$ ��>��
��B ��<?�� <� ��$� ��=V> $���� �=���� <�<�� V 6E��$�� ��>�<><� � ��<���� ������<�
2� ����?=��B� ��<�< ^�

/�� D> $��$��$ ��� ��6<�� <��� 6V $� �=��� �E�E �$ ����� V> $���� ���$ ��>��
��B ��<?�� <�V 6E����>�<><�<�Q��0�=� ������2E�E��E=5�20��E�E E��$�=���5��0�
��%6<5��0��$?B�=�$�����%�1<5�$0�=�%��=��$��$>�5�30��� ��5�60��=��$��=�B� 6��
2�%���� <�<�������<��E@$%�$�%� ����=����<�< ^�

*�� D> $��$��$ ��� ��6<�� <��� 6V $� �=��� �E�E �$ ����� V> $���� ���$ ��>��
��B ��<?�� <��=�����V 6E��$����>�<><�<�������<��E@$%�$�%� ����=����<�< ^�
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��� � �?�< ��� ���?=��$�� �� ���� ���$����$� 2$����$�� 2� � C��<?���< �� 	��?=��$��
�� ���� ���$��5� �=�� B$� ��#�� C�=� ��%<��=�� �$>�?=$�� � ��<���� 2� ��=�$� �$>�?���
B� �<><�<� B$%�� �$ $�$����� 2$�� �$�$%�� ���C��%��� � �?�< ��� ���$��$ ��� �
'�� ��� 5�);;;0���

�

�



V.�
����?�$
� �.��� 
�V����

 �(�. ,��

������������������I�#����+
�0!�# ���$��	.�����4��
�����ABCD/�8� ��CE/�(�!,�FJ����
�

I*;

�������������
����

���� �?�< ���<��$B $����5����������������$�/++;,/+)+�B$�/+)+,/+))�$>����,
V> $����%<�<���5���=V> $�����=���� <����6V $B�%�1���V> $��$��$ ����?�� ��?�� ��
� �?�< ����� $B $���� �����<��� ���?<����<� #$�$3�$���>���$�� V �$=�$��
��<����<?�< �����$B $��$�$�������C<=���������������=�$ $�6V $�/++;,/+)+�$>����,
V> $����%<�<����)/)���=V> $�����=�������//-.�V> $��$��2������=���< �'���5�
/+)+0���

� �?�< ����� $B $���� �����<������?<����<� #$�$3�$���?� B$� /++;,/+)+� $>����,
V> $����%<�<����B$=����E�E �$ ��� �3<�����%V�$����$%$���=���� ��=��V> $��$��$ $�
���?<��<?�< ��/++;,/+)+�%<�<�����������>�������=���<><Z����6$ C$=�$?�� ��$���E�E �
 ����%���� <� �$2$2�%�$��%6������%�1<���%����=���� ���=����E�E �$ �������<=����
����=�I��%���� ��6����$2����?�� ��I��%�<=��E $C�$�V> $��$��$ ����=����E�E �$ �����
V> $���� ���$ ��>�� ��B ��<?�� <��� ���?=��� 6V E?�$ ����� ���?���><� B� ��%<��<?�< �� ���
�$�$��$� /+)+,/+))� $>����,V> $���� %<�<���� �%6�����%�� �$B��� $�����?�� ��

����%������V��$�=$����$ ��$� B$��=���� <���=�� V> $��$��$ $��%6������%�1<����
�=����E�E �$ �����%$��������<=�� <��=���� �B$�#��$��������%�1<����<?�B$=����=�$�
%V�$���$���=���� �=�1�����<?<�����������?�� ���

O%6������ %�1<���� �E�� �=���� �� 6������?� ���1� � �?�< ���<� �� �3<�����
C��<?���<������<������<��<?�B$���=$��$ ��E��=��<�<��<�� ��� �?�< ���<��� �3<�����
$��$�� ���?�< <��<?�< � B$� �%�<� 6E�� �C$ �����$� 2�@@��� � �?�< ���<� �� �3<����� $��$��
��1����<?�< �� N=���� ��� ���$�$� �%6������ %�1<��<><���� �=����� 6V $B��� �����
=��<�<��<�� � � �?�< ��� =�1���<���� �$>$ �$��� ����?�� �� ��� �$�$��$� ��=$��$ ���
6$ ���V�E?�� ��<�c�)++Z�E ��"�1������)GI.���=$��=��<�<��<�� ����><�<��<?����15�
�C<=������ ���%6���B$�$=��=��@���� �=������ �����)+-I���=$���$>$ �$��� �$%$�
��<��<?�< ��

9����%$�$�6V $�2�=<��<><����� �?�< ��%��=��<����V> $��$��$ ���%� <����3�@���<�<�
'cG-�J0� $ =$=�$ 5� =����� =<��<�<� 'c-G�*0� ��$� =��<��� � ���?�� ��=���< ����?�� 6V $�
2�=<��<><���5� //,*+� %�?�� ��<><����*..� 'c*J�)05� *),-+� %�?�� ��<><����-*-� 'c-)�G05�
-),G+�%�?�� ��<><����)JG�'c)I�J0�B$�G)�%�?<�������#��3�@��������V> $��$����%<�<���$�
-;Z�� �'c-�J0��D> $��$��$ ���C�=��@<�<��G)�%�?<��E@$ ���$������<���==���C$=����� ��
�<�$�$� 6V $� 2�=<��<><���5� ),G� %<�� � ��<���� =<�$��� ����� *-+� 'c*/�G05� I,)+� %<��
� ��<����=<�$��������*+/�'c/.�;05�)),/+�%<��� ��<����=<�$��������/.*�'c/J�)05�/)�
%<�<�� @$ ���$� =<�$��� ����� V> $��$�� ��%<�<� ��$� )/)Z�� � 'c))�I0�� ���<?�<><� �=����=��
6V $B� �E $���$� 2�=<��<><���5� ),G� %<�� � ��<���� J*;� 'cJ+�J05� I,)+� %<�� � ��<���� //)�
'c/)�)05� ))� %<�<�� E@$ ���$� �%�<� �=����� C��<?��� V> $��$�� ��%<�<� ��$� .IZ�< � 'c.�/0��
D> $��$��$ ��� 2E%E=� C�>����>����� 2������=�� <� �=����� ��#�� %$��� ����=�� <�
�V%�$�$2��� ��� ��?��6V $�2�=<��<><����� �?�< ��%��=��<����V> $��$��$ ���cG)�/Z�����
G*I� =�?�%�$� �<�<3� V> $��$��$ �5� c-.�.Z���� ��$� G)+� =�?�%�$� 2 ��?� V> $��$��$ ��
���?�� ��=���< ��D> $������ ������6V $�2�=<��<><���5�V> $��$��$ ���;+;�=�?�%�$�
2E%E=�C�>����>��'c.I�;0���������E@$%���$5�)+G�=�?�%�$�c)+Z��V����������E@$%���$5�
*+� =�?�%�$� c/�;Z�� %E=�$=� ������� �E@$%���$� $>����� ���<?=$�Q� ���$� �$@���� �����
V> $��$����%<�<���$����$�$�/�=�?��� ���
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� �?�< ��� B$ ��$ ����� ��1������<���� aD 6E�� (�>�<><� ��B���$ �b� B$� aN=���
�E�E �$ �����D> $����
��$ ��>����B ��<?�� <���=$��b�=�����<��<?�< ��

��# � ��$�� 
������ V.�
���� ?�$
� �.�� &�+���,� ��,� ���
��=� N=���
�E�E �$ ����� V> $���� ���$ ��>�� ��B ��<?�� <�<� 6V��$ �$� �E@$%�$ ���� �$�1���
$��$=� ����<%��� A�?���Z<�� '/++-0� �=��� %V�$�����$ ����� V> $���� ���$ ��>��
��B ��<?�� <%�����6����� �?�< ���<����=�����<��<?�����>��6$C$ ����=�B$�6EB$�� ��=�
C��<?���� <�%�1<��<?������B$�A�?���Z<��D> $����
��$ ��>��'/++-0����<�=���2<����
���� �$���� %�%<������� aN=��� �E�E �$ ����� D> $���� 
��$ ��>�� ��B ��<?�� <b�
���<� ��=$��� =$�������$�� ��<���� �@��� ��> ���������� B$ �� ��1����� � ��<� ��� �=�
=�����<��<?�< ����=$����1����2$?�2�%�����G+�����$�$�����?��=���< ���$ �2� �
����$���� =� ?<�<���� ��� ��B ��<?<�� 6V��$ ���$� �<=�<><�<� 2$�� ��$=� �C��� 2$?���

�=$ ����1���=����=�����<��<?5�2���� �$��������@����$��������%����> ��a#�C2� �
@����,C�=� �@,� �� �< �,C�>�� @����,#$ � @����b� ')dG0� 2�C�����$�
�$ $�$�$��� ����?�� ���

��=$���� 6$C$ ��=� B$� 6EB$�� ��=� C��<?���� <� �C��� 2����� �$���E3�� V �$=�$�$�
%V��$��� ��$� �$C��$�� )+� ��=V> $���� �=������� 6V $B� %�1��� /++� V> $��$��$��
���?���2� �6 �2��aN=����E�E �$ �����D> $����
��$ ��>����B ��<?�� <���=$��b�
�%6�����<?�< �� D�� �%6�������=�� 3�=�V � �����@�� ����C�� <��� 6V $5� ��=$����
6$�$������ B$� ���� 2�%���� <�<�� �C� ���� �<=� =����%<�� <� '9 ��2��#Z�� ��1#�0� B$�
3�=�V � %E=�$ �� �?�><��� 2$�� �����?�� � '"�2��� )0�� N=��� �E�E �$ ����� D> $����

��$ ��>�� ��B ��<?�� <� ��=$��b���� 6$�$�� �C� ���� �<�<=� =����%<�<� �;G�� ����$ �
�$%$ �N�=���D�C$=��$C$ ����>�� ��$� �;IZ�< ���� �$���(1#$ ����%� �$�����$�������<�
C<=�<?�< �� aN=����E�E �$ �����D> $���� 
��$ ��>�� ��B ��<?�� <� ��=$��b���� G�
2�%������� �C<=���<=�� <� ��1���� B� %���� cJ)�)IJZ�� �� ��=$���� �=���
���C�� <�<�� 2$�� �$��$��� B$� 1�%��?<����<� 2�%������� )+� ����$� %$ � ���<?5�
����$�$ ��� ����$,��1���� =� $���%���� <� �JG� ��$� �.;� � ��<���� �$>�?��?� B$�
��1#�� �J;� ����?�� �� �>����� 1 �6 ��<� B$� V> $���� �E $������ %V�$�����
2�%������� )+� ����$� %$ � ���<?5� ����$,��1���� =� $���%���� <� �*G� ��$� �.I�
� ��<�����$>�?��?�B$���1#�� �J;�����?�� ��D> $�����E $������B$�V> $����$ ���
�$>$ �$��� ���$��� 2�%������� )+� ����$� %$ � ���<?5� ����$,��1����
=� $���%���� <� �**� ��$� �.G� � ��<���� �$>�?��?� B$� ��1#�� �J;� ����?�� ��
D> $��$��$ ����$��$=�$��$���B$�6$��?�� ���$���2�%����)+�����$�$�����?��?5�
����$,��1���� =� $���%���� <� �*J� ��$� �.J� � ��<���� �$>�?��?� B$� ��1#�� �J;�
����?�� ���E@$����V> $��$,V> $��$�C$B $���B$���������=����=��������?�� ���
2�%������� )+� ����$� %$ � ���<?5� ����$,��1���� =� $���%���� <� �*;� ��$� �..�
� ��<�����$>�?��?�B$���1#���J.���� �=�2������?�� �'"�2���)0��(���C���� �=Q�
V�� �%6�������� aN=��� �E�E �$ ����� D> $���� 
��$ ��>�� ��B ��<?�� <�
��=$��b���� 6EB$�� ��=� B$� 6$C$ ��=� �$ $�$������ %E=�$=� ����>�� B$� ��=$����
��1����B� %���<��C�>����>�����C<=���<><�� ��%��C<=�<?�< ���
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D> $��$��$ ����$��$=�$��$���B$�6$��?�� ���$���
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��=�aD 6E��(�>�<><���B���$ ��'N��0b���%�B$����=$��
');;)0� �� �3<�����V 6E�� ��>�<><�<� V�C�$=� ����<%��� 6$��?�� ����?�� ����� ��=$��
��1���� J� 2�%��� B$� --� ����$�$�� ���?��=���< �� ��=$��$=�� ����$�$ �$�� .5�
)G5� /+5� //5� /;5� *+5� *-5� *I� B$� *;�� ����$�$ � ������@5� ��>$ � ����$�$ �
�������� ���$ � 2� �����$���� =� ?<�<���� ��� ��B ��<?<�� 6V��$ ���$� �<=�<><�<�
2$�� ��$=��C����V ��E�
�=$ ����1���=����=�����<��<?5�2���� �$��������@����$��
������%�� ��> �� aC�=� �@,� �� �< �,C�>�� @����,#$ � @����b� ')d-0� 2�C�����$�
�$ $�$�$��� ����?�� �� ��B���$ � ��#�� ��� �� ��%� B$� "� �$ � ');;J05� ��%� B$�
(�2�� ');;.0� �� �3<����� ��� =�����<��<?�< ����%5� "� �$ � B$�����=��1� ');;)0�
N1$��(�#����K�$���#%�(�#�����=���2<����$�B���$ ��%�%<����<?�B$�$�B���$ ���
6$C$ ��>���� B$� 6EB$�� ��>���� �$��� $���?�� �� ��1<���� ���������=�$�� �?�$��$ ���
���������5� aD 6E�� (�>�<><� ��B���$ �b���� J� 2�%������� V�C$>$� ���?=���
�C<=���<=�� <� ��1���� B� %���� c� J-� ��� �=� 2������?�� �� 9$����>��� '/++I5�
/++J�05� aD 6E�� (�>�<><� ��B���$ �b��� ���� B$� =E��E $�� �C<�� ���� $>�����
����$����@$��%6��� #��$� 6$�� $ $=�"E =C$%$� C$B� ��?5� 6$C$ ��=� B$� 6EB$�� ��=�
�����@�$ ����%�1� �=��%6����<?�< ���

��B���$ ��� 6EB$�� ��=� B$� 6$C$ ����>���� #$��1����=� �C��� 2����� �$���E3��
V �$=�$�$� %V��$��� ��$� �$C��$�� )+� ��=V> $���� �=������� 6V $B� %�1��� /++�
V> $��$�$� aD 6E�� (�>�<><� ��B���$ �b� �%6�����<?�< �� D�� �%6�������=�� 3�=�V �
�����@�� ����C�� <��� 6V $5� $�B���$ ��� 6$�$������ B$� ���� 2�%���� <�<�� �C� ���� �<=�
=����%<�� <� B$� 3�=�V � %E=�$ �� �?�><��� 2$�� �����?�� � '"�2��� /0�� aD 6E�� (�>�<><�
��B���$ �b���� 6$�$�� �C� ���� �<�<=� =����%<�<� �;)�� ����$ � �$%$ � N�=��� D�C$=�
�$C$ ����>����$��;-Z�E ���� �$���(1#$ ����%��$�����$�������<�C<=�<?�< ��aD 6E��(�>�<><�
D�C$>�b����J�2�%�������V�C$>$� ���?=����C<=���<=�� <� ��1����B� %����cI;�)+*Z�E ��
aD 6E��(�>�<><���B���$ �b����=� ������2E�E��E=�2�%�������J�����$�%$ ����<?5�
����$�$ �������$,��1����=� $���%���� <� �-I� ��$� �I.�� ��<�����$>�?��?�B$���1#��
�JI� ����?�� �� �E�E E�� $�=���� 2�%������� G� ����$� %$ � ���<?5� ����$,��1����
=� $���%���� <� �G+� ��$� �J+� � ��<���� �$>�?��?� B$� ��1#�� �JJ� ����?�� �� �$@�=$��
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"�2���*Z�$=��=� $���%�����2��������$�$���>���$5�=� ������2E�E��E=���$��=���
���C�� <�<��2$�� �$��$���B$�1�%��?<����<�� ��<����� ����E@$%�$5�1�@���3�%V��$�B$�
������<� 2� � ���?=�� 2������?�� � '�� `� �J+5� �� i� �+)0�� �$�@$ � ?$=���$� =� ������
2E�E��E=��$>�?=$�����$�$>�����1 �6 ��<�B$�V> $�����E $������%V�$�����'��`��I.5��
��i��+)05�V> $�����E $������B$�V> $����$ ����$>$ �$��� ���$���'��`��I/5���i��+)05�
V> $��$��$ ��� �$��$=�$��$��� B$� 6$��?�� ���$��� '�� `� �I/5� �� i� �+)0� B$� �E@$����
V> $��$,V> $��$� C$B $��� B$� ������� �=��� �=����� ���?�� ��� '��`� �IJ5���i� �+)0�
�$>�?=$��$ ��� ��<����1�@���3�B$�������<����?=��$ �B� �< ���

�E�E E�� $�=���� ��$� �=��� ���C�� <�<�� 2$�� �$��$��� B$� 1�%��?<����<� � ��<����
%E=�$=��E@$%�$5�1�@���3� %V��$�B$�������<�2� � ���?=��2������?�� � '��`� �JJ5���i�
�+)0�� �$�@$ � ?$=���$��E�E E�� $�=���� �$>�?=$��� ��$� $>����� 1 �6 ��<� B$� V> $����
�E $������ %V�$����� '�� `� �JJ5� �� i� �+)05� V> $���� �E $������ B$� V> $����$ ���
�$>$ �$��� ���$��� '�� `� �JI5� �� i� �+)05� V> $��$��$ ��� �$��$=�$��$��� B$�
6$��?�� ���$���'��`��J-5���i��+)0�B$��E@$����V> $��$,V> $��$�C$B $���B$��������
�=����=��������?�� ���'��`��J.5���i��+)0��$>�?=$��$ ��� ��<����1�@���3�B$�������<�
���?=��$ ���1����<?�< ��

�$@�=$����$��=������C�� <�<��2$�� �$��$���B$�1�%��?<����<�� ��<����%E=�$=�
�E@$%�$5� 1�@���3� %V��$� B$� ������<� 2� � ���?=�� 2������?�� � '��`� �.-5� ��i� �+)0��
�$�@$ � ?$=���$� �$@�=$�� �$>�?=$��� ��$� $>����� 1 �6 ��<� B$� V> $���� �E $������
%V�$����� '�� `� �.+5� �� i� �+)05� V> $���� �E $������ B$� V> $����$ ���
�$>$ �$��� ���$��� '�� `� �JJ5� �� i� �+)05� V> $��$��$ ��� �$��$=�$��$��� B$�
6$��?�� ���$���'��`��J.5���i��+)0�B$��E@$����V> $��$,V> $��$�C$B $���B$��������
�=��� �=����� ���?�� ��� '�� `� �.G5� �� i� �+)0� �$>�?=$��$ �� � ��<���� 1�@���3� B$�
������<����?=��$ �2������?�� ��

"$?B�=�$�����%�1<���$��=������C�� <�<��2$�� �$��$���B$�1�%��?<����<�� ��<����
%E=�$=��E@$%�$5�1�@���3� %V��$�B$�������<�2� � ���?=��2������?�� � '��`� �.G5���i�
�+)0���$�@$ � ?$=���$� �$?B�=�$�����%�1<��$>�?=$��� ��$�$>�����1 �6 ��<�B$�V> $����
�E $������ %V�$����� '�� `� �.*5� �� i� �+)05� V> $���� �E $������ B$� V> $����$ ���
�$>$ �$��� ���$��� '�� `� �J.5� �� i� �+)05� V> $��$��$ ��� �$��$=�$��$��� B$�
6$��?�� ���$���'��`��JG5���i��+)0�B$��E@$����V> $��$,V> $��$�C$B $���B$��������
�=����=��������?�� ���'��`��./5���i��+)0��$>�?=$��$ ��� ��<����1�@���3�B$�������<�
���?=��$ �B� �< ��
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� ����E@$%�$5�1�@���3�%V��$�B$�������<�2� ����?=��2������?�� �'��`��I/5���i��+)0��
�$�@$ � ?$=���$� =�%��=� �$��$>�� �$>�?=$��� ��$� $>����� 1 �6 ��<� B$� V> $����
�E $������ %V�$����� '�� `� �I-5� �� i� �+)05� V> $���� �E $������ B$� V> $����$ ���
�$>$ �$��� ���$��� '�� `� �I+5� �� i� �+)05� V> $��$��$ ��� �$��$=�$��$��� B$�
6$��?�� ���$���'��`��I)5���i��+)0�B$��E@$����V> $��$,V> $��$�C$B $���B$��������
�=����=��������?�� ���'��`��I-5���i��+)0��$>�?=$��$ ��� ��<����1�@���3�B$�������<�
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%E=�$=��E@$%�$5�1�@���3� %V��$�B$�������<�2� � ���?=��2������?�� � '��`� �J*5���i�
�+)0���$�@$ � ?$=���$��=��$��=�B� 6���$>�?=$��� ��$�$>�����1 �6 ��<�B$�V> $����
�E $������ %V�$����� '�� `� �J*5� �� i� �+)05� V> $���� �E $������ B$� V> $����$ ���
�$>$ �$��� ���$��� '�� `� �J)5� �� i� �+)05� V> $��$��$ ��� �$��$=�$��$��� B$�
6$��?�� ���$���'��`��I;5���i��+)0�B$��E@$����V> $��$,V> $��$�C$B $���B$��������
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%V��E� ���?=��$ ��� B� �<><� 6V E��$=�$�� �� ����� 6V $� V 6E��$�� ��>�<><�� ����
2�%���� <� � ��<���� $�� %E=�$=� ���?=�� �$@�=$�� B$� �$?B�=� $����� %�1<� 2�%���� <�
� ��<����� ��%��C<=� =$��'��`��.-5���i��+)05�$���E?E=����?=��=� ������2E�E��E=�
B$� =�%��=� �$��$>�� 2�%���� <� � ��<���� '�� `� �G-5� �� i� �+)0� 6$ C$=�$?��?�� �� ���
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%V��E� ���?=��$ � ��1����<?�< �� ����� 6V $� V> $���� ���$ ��>����� ���� 2�%���� <�
� ��<���� $�� %E=�$=� ���?=�� �=��� ���C�� <�<�� 2$�� �$��$��� B$� 1�%��?<����<� ��$�
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"�2��� -� ���$�$���>���$5� =� ������ 2E�E��E>E�� %� ������<��� ���?=���
 $6 $�%��� �����@�� ����C�� <5� V> $���� ���$ ��>����� �E�� 2�%���� <�<�� 2� ��=�$�
=� ������ 2E�E��E=� 2�%���� ��$� 1�@���3� %V��$5� %E=�$=� �E@$%�$� B$� ������<� 2� �
���?=�� B$ ��>���� 6V��$ ��?�� � '-� `� �J)5� -A� `� �G+5� �� i� �+)0�� ��� �$>�?=$��$ �
2� ��=�$�=� ������2E�E��E=�1����� <���=��B� %���<��cG+Z������C<=����=���< ��
��������2� ��=�$5�%� ��%<�<�� <��������<�<=��E@$%�$ ��$����?=����,�$��������C�� <�
���$�$���>���$� ��$5� �=��� ���C�� <�<�� 2$�� �$��$��� B$� 1�%��?<����<� '��`� I�G.5��
��i��+)05�$>�����1 �6 ��<�B$�V> $�����E $������%V�$�����'��`�-�)/5���i��+)05�
V> $���� �E $������ B$� V> $����$ ��� �$>$ �$��� ���$��5� '��`� ,/�JJ5���i� �+G0� B$�
�E@$����V> $��$,V> $��$�C$B $���B$���������=����=��������?�� ���'��`�*�/G5�
�� i� �+G0� �$>�?=$��$ ����� ������<� %� ��%<�<�� � ����>���� 6V��$ ��?�� ��
�� ������ 2E�E��E>E��$�� 6EC�E� %� ��%<�<�<� �=��� ���C�� <�<��2$�� �$��$��� B$�
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"�2��� )+� ���$�$���>���$� V 6E��$�� ��>�<><�� �=��$��=� B� 6�� 2�%������
���?=���  $6 $�%��� �����@�� ����C�� <� V> $���� ���$ ��>����� �E�� 2�%���� <�<��
2� ��=�$��=��$��=�B� 6��2�%������$�1�@���3�%V��$5�%E=�$=��E@$%�$�B$�������<�
2� � ���?=�� B$ ��>���� 6V��$ ��?�� � '-�`� �JG5�-A�`� �GI5���i� �+)0����<� 6$C$��2$?�
�$>�?=$�� 2� ��=�$5� �=��$��=� B� 6�� 2�%������� ��1���� B� %���<�� %�=��?<=�
cGIZ�<�<��C<=����=���< ��
$6 $�%���=����%<�� <�<��������<�<><������?=����,�$����
����C�� <� ���$�$���>���$� ��$� �=��� ���C�� <�<�� 2$�� �$��$��� B$� 1�%��?<����<��
'��`�-�J+5���i��+)05�$>�����1 �6 ��<�B$�V> $�����E $������%V�$�����'��`�*�./5�
��i� �+)05� V> $��$��$ ��� �$��$=�$��$��� B$� 6$��?�� ���$��� '��`�/�.*5���i� �+)05�
V> $���� �E $������ B$� V> $����$ ��� �$>$ �$��� ���$��� '�� `� )�/+5� �� i� �+)0� ����
2�%���� <�<���=��$��=�B� 6��2�%����E@$ ���$�V�$����2� $ �%� ��%<�<�����>��
6V E��$=�$�� ��
$6 $�%��������@������C�� <���6V $��E@$����V> $��$,V> $��$�
C$B $��� B$� ������� �=��� �=����� ���?�� ��� '�� `� �;J� �� m� �+G0� �$>�?=$��� ��$�
�=��$��=�B� 6���$>�?=$������������<�%� ��%<�<�<��$>���� ��

��!(��,����������#������������%���
���6�!������������"��,���.������

�CE��E� ���� 1 �2�$����@� ����� aD> $��$��$ ��� ��6<�� <��� 6V $� �=���
�E�E �$ ����� V> $���� ���$ ��>�� ��B ��<?�� <� �=����� V 6E��$�� ��>�<><�<� ������<�
�E@$%�$� %� ����=��� �<�< ^b� �� ������ ���$�$��>���@�$� ��$� %�1<����  $6 $�%���
�����@�� ���������� V> $��$��$ ��� ��6<�� <��� 6V $� �=��� �E�E �$ ����� V> $����
���$ ��>�� ��B ��<?�� <� ��$� ��=V> $���� �=���� <�<�� V 6E��$�� ��>�<><� � ��<���� %E=�$=�
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�E@$%�$5�1�@���3�B$�������<�2� ����?=��2������?�� �'-�`��.J5�-A�`��JI5�1�`�*/I-�)I5�
��i��+)0�'"�2���))0�'A$=���)0������������6V $5��=���� <��V 6E��$����>�<><������?=���
��1����B� %���<��%�=��?<=�cJIZ�<�<���=���� <���=����E�E �$ �����V> $�������$ ��>��
��B ��<?�� <� ��$� �C<=����<><� �V%�$�$2��� �� ��>$ � 2� � �3��$%�$� �=��� �E�E �$ �����
V> $���� ���$ ��>�� ��B ��<?�� <� 6$�$�� ��� �=� �=����� V 6E��$�� ��>�<><�<�� 6EC�E� 2� �
%� ��%<�<�<�< �� �?�><��=�� ?$=���$� 6V��$ ��$�� V> $���� ���$ ��>�� B$� V 6E�� ��>�<><�
�$>�?=$��$ �� �C��� ��C<���� ��%�6 ��<� ��> ������ 2�=�<><�<@��� �=��� �E�E �$ �����
V> $���� ���$ ��>�� ��B ��<?�� <�<� 6V��$ �$� �E@$%�$ �� � ��<=C�� �=���� <�� V 6E��$��
��>�<=��E@$%�$ ���$���> ��� ���<�<�2� �?$=���$�� ���=���< ��
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�� �C��D> $�������$ ��>��B$�V 6E����>�<><�
�$>�?=$��$ ���C�����C<������%�6 ��<�B$�
 $6 $�%�����> ����
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���� �?�< �����V> $��$����6<�� <���6V $��=����E�E �$ �����V> $�������$ ��>��
��B ��<?�� <� ��$� �=����� V 6E��$�� ��>�<><� � ��<���=�� ���?=��$ � ���$�$��?�� ��
� �?�< �������C�� <��=����E�E �$ �����V> $�������$ ��>����B ��<?�� <� ��$��=�����
V 6E��$����>�<><�� ��<���=�����?=������>���E?E��$�������> �����=���< ���

� �?�< ��� 2��6��� <��� 6V $� V> $���� ���$ ��>�� B$� V 6E�� ��>�<><� ��$� ��6����
�$>�?=$��$ � � ��<� =� $���%��� ����C�� <� ���$�$���>���$� %E=�$=� �E@$%�$� 1�@���3�
%V��E����?=��$ ���B� �<><�6V@$�C� 1��=���< ����>$ �2� ��3��$%�$5��=����E�E �$ �����
V> $�������$ ��>����B ��<?�� <�� ��<=C�5��=���� <��V 6E��$����>�<=��E@$%�$ ���$��$�
� �<?� 6$ C$=�$?�$=�$�� �� D> $���� ���$ ��>�� ��$� V 6E��$�� ��>�<=� � ��<���=�� $��
%E=�$=�1�@���3�%V��E����?=���$?B�=�$�����%�1<���$��=������C�� <�<��2$�� �$��$���B$�
1�%��?<����<� 2�%���� <� B$� �$@�=$�� ��$� �E@$���� V> $��$,V> $��$� C$B $��� B$�
������� �=��� �=����� ���?�� ��� 2�%���� <� � ��<���� 6V E��$=�$�� �� ��� �E?E=�
1�@���3�%V��E����?=����$��� ���B$�V> $��$��$ ����$��$=�$��$���B$�6$��?�� ���$�������
2�%���� <�� ��<����6$ C$=�$?��?�� ��
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��%� B$� 7$������ ');.J0� B$� ��%5� "� �$ � B$� ����=��1� ');;)0� �$?B�=� $�����
%�1<�<���=���%V�$����������%V�$��$��$%�$��$ �$=��2�?� <�<�<��3��$�$���>����B$��=���
�E�E E�E�� 6V $B� B$� 2�?� <%�� %V�$��=� ��B ��<?�� <�<� �C$ ��>���� 2$�� ��$=�$�� ��
����%<�<%��� �$?B�=�$����� %�1<�<���=��� %V�$�����������=��������C�� <�<�2$�� �$�$�
B$� 1�%��?��� ��B ��<?<%��� 6EC�E� 2� � ���?=������� �����<� 2$=�$�$�� 2� � �� ���� ��
A�?����'/++-0�#$ ��E �E�$>���$��$�=����=�$ �$�����>��6�2���=���� <�����V��$��=�$�
���?��=����$��=�$ ��2$�������C�� <�<�������<�<��$�$��6$ $=����=�$ �$��2� ����� �=�
�3��$�$��$=�$� B$��=���� <��2$�� ��� ���C�� <������<� 6$ $=$��2� �V 6E������>����
B� 6�����=���< ���

�$@�=$�� �=��� �E�E E�E�� C��<?���� �� =� ?<� 6V��$ ��>�� ����C�5� ������5�
�$��$=�$%���� B$� �$��$=��?�� <� ��$� �?2� ��>���� �C$ $�� ��B ��<?�� <�<� B$� �C<=�
��$��?�������3��$�$��$=�$�� �'��%�B$�7$�����5�);.JQ���%5�"� �$ �B$�����=��15�
);;)0�� �$@�=$�� ������� �=��� �=����� ���?�� ����� ����=C�� $�=����� �� �E�E?$���
');;I0� �=��� %V�$�����$ ����� ���C�� <�� 6$ C$=�$?�� ��$2��$�$>�� ������� V 6E��
�=����������?�� ��=��C���$=�1�C��<?���<�<��$?B�=�$���=�$ ����B$�C��<?���� <��%E=�$=�
���$��>$� ��#�1� ������ <� �C��� ���� <� 6$��?�� ���� 1 �6 ���� <� �%6����<=�� <�<� �3��$�
$��$=�$�� ��	?�$�2����=������=���%V�$�����$ ������$��$=�$%����B$��$��$=��?�� <���$�
�?2� ��>���� �C$ $�� ��B ��<?�� <� ������� �=��� �=����� ���?�� �2���$�$ ����
��>����=���< �� �$��=� '/+++0� �$� $�=���� �=����� 2������� V> $��$��$ ��� B$�
%V�$�����$ ����=����6$��?�� �$�B$��=���������<������V> $����2�?� <�<�<�� ��< ���
=������ E@$ ���$� ���=����<=�� <�<� B$� 2V%�$�$� $>����,V> $���$� ���?=��� =��$=��3�
���C����?�� ����%��C��<?<��<><�<��3��$�$��$=�$�� ��

� �?�< ��� 2��6��� <� �$>$ �$��� ����>���$� V 6E��$�� ��>�<><�� ���� 2�%���� <�
� ��<���� 1�@���3� %V��E� ���?=��$ ��� B� �<><� 6V E��$=�$�� �� ����� 6V $� V 6E��$��
��>�<><�� ���� 2�%���� <� � ��<���� $�� %E=�$=� ���?=�� �$@�=$�� B$� �$?B�=� $����� %�1<�
2�%���� <�� ��<����� ��%��C<=� =$�Q�$���E?E=����?=��=� ������2E�E��E=�B$�=�%��=�
�$��$>�� 2�%���� <� � ��<���� 6$ C$=�$?��?�� ��� �?�< ��� 2��6��� <� 6$�$�� ���2� �%�$�
����CZ���'/++.0�� �?�< ���<���=��2��6��� ���2$�@$ ��=�6V��$ �$=�$�� ������CZ���
'/++.0�� �?�< ���<����V 6E��$����>�<><�5�=�%��=��$��$>���<?<����V 6E��$����>�<><��
�E�� ���� 2�%���� <�<�� =$���� �C$ �����$5� 1�@���3� %V��$� 2� � ���?=�%$� ��#�1� ����>�5�
=�%��=��$��$>����$�=� ������2E�E��E=�� ��<������$��$ ��%V��$��E?E=��E@$%�$�B$�
������<@� 2� � ���?=����� ����>�� ��1����<?�< �� � �?�< ��� 2��6��� <��� 1� ��$�� 2� �
?$=���$� ����CZ��� '/++.0� � �?�< ���<���� ��� V 6E��$�� ��>�<><�� ���� 2�%���� <�
� ��<����$��%E=�$=� ���?=���$@�=$��B$��$?B�=�$�����%�1<�2�%���� <�� ��<����� ��%��
C<=�<?�< ���

� �?�< ��� 2��6��� <�<� �$��$=�$ � ���$��=�$� 9$�6�@� '/++.0� �� �3<����� %�1<����
� �?�< ��� ����C�� <��� 6V $� V 6E��$�� ��>�<=� V�C$>����� ���� 2�%���� <�<�� 2� C�>��
� ��<���� 1�@���3� 2� � ���?=�� ��1����<?�< ���% <���9$�6�@Z��� '/++.0� � �?�< ���<����
���V 6E��$�� ��>�<><�� ���� 2�%���� � � ��<���=�� $�� 6EC�E� ���?=�� �$?B�=� $����� %�1<� ��$�
�$@�=$��� ��<����< ��
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� �?�< ��� 2��6��� <� �� =��@� '/++G0� �� �3<����� %�1<���� � �?�< ���<��
2��6��� <%���=<��$��2$�@$ ��=�6V��$ �$=�$�� ��� �?�< ���2��6��� <���1� ��$��2� �
?$=���$� �� =��@� '/++G0� �� �3<����� %�1<���� � �?�< ����� V 6E��$�� ��>�<=�
V�C$>���������2�%���� <�<��2� C�>��� ��<����1�@���3�2� ����?=����1�����=���2� ��=�$�
���� 2�%���� � � ��<���=�� $�� 6EC�E� ���?=�� V> $��$��$ ��� �=����� =�%��=� �$��$>��
��>�����<� #�==<���=�� ��6<������ <� ��$� V> $��$��$ ��� �=��$��=� B� 6��
#�==<���=�� 6V E?�$ �� � ��<����< �� � �?�< ��� 2��6��� <����� 3� =�<� ��� �=�
�� =��@� '/++G0� �� �3<����� %�1<���� � �?�< ����� =� ������ 2E�E��E>$� ���?=���
V> $��$�� ��6<������ <� ��$� �=��$��=� B� 6�%�� ���?=��� V> $��$�� ��6<�� <� � ��<����
2� ����?=����1������<?�< ���

� �?�< ��� 2��6��� <� �$>$ �$��� ����>���$5� V> $���� ���$ ��>����� ���� 2�%���� <�
� ��<����1�@���3� %V��E� ���?=��$ � ��1����<?�< ������� 6V $�V> $���� ���$ ��>����� ����
2�%���� <�� ��<����$��%E=�$=����?=���=������C�� <�<��2$�� �$��$���B$�1�%��?<����<�
��$� $>����� 1 �6 ��<� B$� V> $���� �E $������ %V�$����� 2�%���� <� � ��<���� � ��%��
C<=� =$�Q�$���E?E=����?=��V> $��$��$ ����$��$=�$��$���B$�6$��?�� ���$�����$�$>�����
1 �6 ��<�B$�V> $�����E $������%V�$�����2�%���� <�� ��<����� ��%��C<=�<?�< ���

� �?�< ���2��6��� <�<��$��$=�$ ����$��=�$��$�� ���'/++J0��� �3<�����%�1<����
� �?�< ����� V> $���� ���$ ��>����� ���� 2�%���� <� � ��<���� 1�@���3� %E=�$=� �E@$%�$�
2� ����?=������>��6V E��$=�$�� �����$�� �?�< ���2��6��� <%����%�����2� �?$=���$�
($ ��� B$� ����C� '/+)/0� �� �3<����� %�1<���� � �?�< ����� V> $���� ���$ ��>����� ����
2�%�����2� 2� �$ �%�$���������?=��$ ���1�@���3�%V��$�����>��6V E��$=�$�� ��

�$�� V 6E��$�� ��>�<><�� �$�� �$� V> $���� ���$ ��>����� ���� 2�%���� <� � ��<����
1�@���3� %V��E� ���?=��$ ��� B� �<><� ���� 2�%���� <�� =$���� �C$ �����$� ������<� 2� �
2E�E��E=���?<�<><�<�6V��$ �$=�$�� ��

� �?�< ���2��6��� <���6V $� $6 $�%��������@������C�� <���2�=<��<><�����=���
�E�E �$ ����� V> $���� ���$ ��>�� ��B ��<?�� <�<�� 2E�E�� 2�%���� ��� V 6E��$��
��>�<><��������<�2� �%� ��%<�<�<�����>����1����<?�< ��D 6E��$����>�<><��=� ������
2E�E��E=5��E�E E��$�=���5� �$@�=$�5� �$?B�=�$����� %�1<5� =�%��=��$��$>�5��� ��� B$�
�=��$��=� B� 6�� 2�%���� <��� ���?=���  $6 $�%��� �����@�� ����C�� <� V> $����
���$ ��>������E��2�%���� <�<��2� ��=�$�V 6E����>�<><�<��2�%���� <���$�1�@���3�%V��$5�
%E=�$=��E@$%�$�B$�������<�2� ����?=��B$ ��>����6V��$ ��?�� ���

D 6E��$����>�<><��=� ������2E�E��E=�2�%�������%� ������<������?=��� $6 $�%���
�����@�� ����C�� <� =� ������ 2E�E��E>E�� $�� 6EC�E� %� ��%<�<�<�<�� �=��� ���C�� <�<��
2$�� �$��$��� B$� 1�%��?<����<� 2�%���� ����>���� 6V��$ �$=�$�� �� ��%� B$� 7$������
');.J0� B$� ��%5� "� �$ � B$� ����=��1� ');;)0� =� ������ 2E�E��E>E�� �=����=�� �E��
C��<?���� <���=��������C�� <�<�=�2���$��$�$ �5��=��������C�� <%���2E�E��$?�$�$ �5�
�=����� $>����� 1 �6 ��<�<� B$� B�@%������ =�2��� $��$�$ �5� �=����� C$B $����$�
V 6E��$���?� ����� 6 �1�� ��� ��$��?��� �C$ �����$� ������ <�<� �3��$� $���>����
2$�� ��$=�$�� ��	?�$�2����=������=������C�� <�<��2$�� �$��$������B$�1�%��?<����<�<��
=� ������ 2E�E��E=� ��$� C��<?���� <�� �=����� ���C�� <�<� =�2��� $��$�$ �5� �=�����
���C�� <%���2E�E��$?�$�$ ���C<�<�������> ��������?=��������>��6V E��$=�$�� ��
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D 6E��$����>�<><���E�E E��$�=����2�%�������%� ������<������?=��� $6 $�%���
�����@�� ����C�� <� �E�E E�� $�=���� 2�%������� $�� 6EC�E� %� ��%<�<�<�<�� �E@$����
V> $��$,V> $��$� C$B $��� B$� ������� �=��� �=����� ���?�� ��� 2�%���� ����>����
6V��$ �$=�$�� �� ��%� B$� 7$������ ');.J0� B$���%5� "� �$ � B$� ����=��1� ');;)0�
�E�E E��$�=�������E�E E���C<=���$��?���B$�=��<�<��<�%V�$������%$����$�V 6E��$��
E��� ����$������=� � �� <�<� $�=��$%$2���$������ �=� �3��$�$��$=�$� B$� ?V%�$��$B���
$��$=�$�� �� ��=��$%�����E�E 5� �����< <�<5� 2�><��<@� �E?E��$� B$� $%�$�$� 6$C�$5�
$�=���� C��<?��� %$�$�$>��$� ��#�1�� �� �% <��� �=��� �E�E E� $>����� 3����%$��$ �����
��#��$�=����%E E�E��$����C���V �$=���� 5�V> $��$��$ ��%V��$��� � �B$��$?B�=�$�$ ��
�V%�$�$��=����E�E E���������=����=��������?�� ���������=C��$�=������� ��

D 6E��$�� ��>�<><�� �$@�=$�� 2�%������� %� ������<��� ���?=���  $6 $�%��� �����@��
����C�� <��$@�=$����$��6EC�E�%� ��%<�<�<�<���E@$����V> $��$,V> $��$�C$B $���B$�
��������=����=��������?�� ���2�%��������>����6V��$ �$=�$�� ��N=����E�E E�E��
C��<?���� �� =� ?<� 6V��$ ��>�� ����C�5� ������5� �$��$=�$%���� B$� �$��$=��?�� <� ��$�
�?2� ��>�����C$ $����B ��<?�� <�<�B$��C<=���$��?�����E@$����V> $��$,V> $��$�C$B $���
B$���������=����=��������?�� �����2$�� �$%����2� �$�=�%$���#�1�� ��

D 6E��$����>�<><���$?B�=�$�����%�1<�2�%�������%� ������<������?=��� $6 $�%���
�����@�� ����C�� <� �$?B�=� $����� %�1<�<�� $�� 6EC�E� %� ��%<�<�<�<�� �=��� ���C�� <�<��
2$�� �$��$��� B$� 1�%��?<����<� 2�%���� ����>���� 6V��$ �$=�$�� �� "$?B�=� $�����
%�1<�<���=���%V�$�����������=��������C�� <�<�2$�� �$�$�B$�1�%��?�����B ��<?<%���
6EC�E�2� ����?=����B� �< ���

�D 6E��$����>�<><��=�%��=��$��$>��2�%�������%� ������<������?=��� $6 $�%���
�����@�� ����C�� <� =�%��=� �$��$>�� $�� 6EC�E� %� ��%<�<�<�<�� $>����� 1 �6 ��<� B$�
V> $�����E $������%V�$�����2�%��������>����6V��$ �$=�$�� ����%�B$�7$������
');.J0� B$���%5� "� �$ � B$� ����=��1� ');;)0� =�%��=� �$��$>����� �=����5� %$�$ ���
�<�<3�� B$� V> $���� ���$ %����$� ��#�1� �����<�<5� 2�� ���$ %���$ ��� =���%���
���?<��2��� � B$� =�����<��2��� � �����<�<� �3��$� $���>���� 2$�� ��$=�$�� �� �>�����
1 �6 ��<� B$�V> $���� �E $������$�=���� %V�$����� ��$�����=� %$�$ ��� =�%��=��$��$>��
��$� �E�=E�� ���2��� �� ��>$ � 2� � �3��$%�$Q� $>$ � �=��5� %$�$ ��� �<�<3�� B$� V> $����
���$ %����$� ��#�1� ��$� B$� 2�� ���$ %���$ ��� =���%��� ���?<��2���%� ��� $>�����
1 �6 ��<�B$�V> $�����E $������%V�$������$����$ $�$��E�=E�����2��� ���

�D 6E��$�� ��>�<><���� ��� 2�%������� %� ������<��� ���?=���  $6 $�%��� �����@��
����C�� <��� �����$��6EC�E�%� ��%<�<�<�<��$>�����1 �6 ��<�B$�V> $�����E $������
%V�$����� 2�%���� ����>���� 6V��$ �$=�$�� �� ��%� B$� 7$������ ');.J0� B$� ��%5�
"� �$ � B$� ����=��1� ');;)0� �� ����� C��<?���� � � ��<���� � ��=� 2� � �C<=�<=5�
���$=����=5�� =���?�<=�B$�6EB$����%6��������>�����3��$�$��$=�$�� �����<?���� <��
2� 2� �$ �� #�==<���� �%�� ?$%�$ � �E?E�E1� 2� 2� �$ ���� �$B�$��� 2� 2� �$ ��$� =� ?<�
#�?6V E�E� �����<� B$� 2� 2� �$ ��$� %� �<�� $��$��� $>����� 1 �6 ��<� B$� V> $����
�E $������%V�$��������������%V��$�$�=��$�$=�$�� ���

D 6E��$����>�<><���=��$��=�B� 6��2�%�������%� ������<������?=��� $6 $�%���
�����@������C�� <��=��$��=�B� 6�����$��6EC�E�%� ��%<�<�<�<��$>�����1 �6 ��<�B$�
V> $�����E $������%V�$�����2�%��������>����6V��$ �$=�$�� ����%�B$�7$������
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');.J0� B$� ��%5� "� �$ � B$� ����=��1� ');;)0� �=��$��=� B� 6����� �=����5�
�=��$��=� �E=$��$���>�� � ���%�� 6E�E�$��$� �$ $�$����� �3��$� $���>����
2$�� ��$=�$�� �� �=��$��=� B� 6�� �=���� <�� 2�?� <%�� ���=������<�<5� V> $����$ �
�C���%E=�$=�3�=������?<��2��� �6$ C$=C�����C�� ����?�� �����<�<��3��$�$��$=�$�B$�
$>�����1 �6 ��<�B$�V> $�����E $������%V�$��������������%V��$�$�=��$�$=�$�� ���

� �?�< �������C�� <��$>$ �$��� ����>���$�6$�$����� �=��$>�?=$��$ �� ��<����
%E=�$=� �E@$%�$� 1�@���3� %V��E� ���?=��$ � 6V E��$=�$� 2� ��=�$� V> $���� ���$ ��>�����
2�%���� <�����V> $�����E $������B$�V> $����$ ����$>$ �$��� ���$����$>�?=$������
�$6���3�2� �%� ��%<�<������<�V 6E����>�<><�<��=� ������2E�E��E=5��$@�=$�5��$?B�=�
$����� %�1<� B$� =�%��=� �$��$>�� 2�%���� <� �C<�<����� ��6��C� 2� � 2��6�� ��� �=�
�$>$ �$��� ��$2��� �� N=��� �E�E �$ ����� V> $���� �E $����� B$� V> $����$ ��
�$>$ �$��� �$� 6V $B�$ ���� 6$ C$=�$?�� �$� �E@$%�$ �� � ��<=C�� �=����� V 6E��$��
��>�<><� =� ������ 2E�E��E=5� �$@�=$�5� �$?B�=� $����� %�1<� B$� =�%��=� �$��$>��
2�%���� <���� ������@� ��� �=� $�=��$��$=�$�� �� ��� 2��6�� �=��� �E�E E�E��
�$�$��$�$� B$� �$>$ �$��� �$� 3��=��%������� 6$�$�� ��� �=� �=����� V 6E��$��
��>�<><�<� �$6���3� 2� � ?$=���$� $�=��$��>���� 6V��$ �$=�$�� �� �������� 2� ��=�$Q�
V> $���� �E $������ B$� V> $����$ ��� �$>$ �$��� ���$��� �$>�?=$��� V 6E�� ��>�<><�<��
�E�E E��$�=���5��� ���B$��=��$��=�B� 6��2�%���� <�<��1�@���3�%� ��%<�<�<�< ��

� �?�< ���2��6��� <��� 6V $� V 6E�� ��>�<><�<�� %� ������<��� ���?=���  $6 $�%���
�����@������C�� <����$�$���>���$�V> $��$��$ �����6<�� <���6V $��=����E�E �$ �����
V> $���� ���$ ��>����B ��<?�� <� ��$� ��=V> $�����=���� <�<��V 6E��$�� ��>�<><� � ��<����
%E=�$=� �E@$%�$5� 1�@���3� B$� ������<� 2� � ���?=�� 2������?�� �� ��� ������� 6V $5�
�=���� <�� V 6E��$�� ��>�<><� ���?=��� ��1���� B� %���<�� %�=��?<=�cJIZ�<�<�� �=���� <��
�=����E�E �$ �����V> $�������$ ��>����B ��<?�� <���$��C<=����<><��V%�$�$2��� ����>$ �
2� ��3��$%�$��=����E�E �$ �����V> $�������$ ��>����B ��<?�� <�6$�$����� �=��=�����
V 6E��$�� ��>�<><�<�� 6EC�E�2� � %� ��%<�<�<�< ��N=����E�E �$ ����� V> $���� ���$ ��>��
��B ��<?�� <�<�6V��$ �$��E@$%�$ ��� ��<=C���=���� <��V 6E��$����>�<=��E@$%�$ ���$�
��> �� � ���<�<� 2� � ?$=���$� � ���=���< �� � �?�< ��� 2��6��� <� �� $=�� ������� ���
����%�<���� �=��=���%V�$�����$ ������$ ��=������$ �����V 6E����>�<><�<��2� �%� ��%<�<�<�
����>���� � ��%�� =�%��� 9$����>��� '/++J�05� 9$�6�@� '/++.05� �� =��@� '/++G5�
/++J0� B$� �<��< <�� '/++I0� �� �3<����� %�1<���� � �?�< ���� ��� 2$�@$ ��=�
6V��$ �$=�$�� �� �� =��@� '/++-0� V 6E�� ��>�<><� ��$� �=��� %V�$�����$ ����� ���$ ��=�
V@$���=�$ ��� ��<����������<�2� � ���?=������>����2$�� ��$=�$�� ����%�B$�7$������
');.J0� ��� 6$�$�� ��� �=� %�1<���� � �?�< ���� <�� V 6E�� ��>�<><� ��$� ���$ ��=� � ��<����
������<�2� ����?=�����B� �<><�<�6V��$ ��>����B� 6�����=���< ���

� �?�< ��� 2��6��� <%��� �%����� 2� � ?$=���$� �� =��@� '/++J05� �� �3<�����
%�1<���� � �?�< ��� ����C�� <��� 6V $� �=��� �E�E �$ ����� �=��� �C$ �����$�
6V��$ ��=�$ ���V�E?E��$�����$ ��=����������6EC�E�2� �?$=���$��=�����V 6E����>�<><�<�
��> ����� $�=��$��>���� 2$�� ���?�� �� � �?�< ��� 2��6��� <�<� �$��$=�$ � ���$��=�$�
9$�6�@� '/++.0� �� �3<����� %�1<���� � �?�< ��� ����C�� <��� 6V $� ��$� �V�E?E��$��
���$ ��>���V 6E����>�<><�E@$ ���$�2$�� �$%����2� �$�=�%$���#�1�����>����1����<?�< ��
9$�6�@�'/++.0�V 6E����>�<><���$�%V�$�����$ ������$ ��=�V@$���=�$ ��� ��<����%�=<��2� �
���?=������>����B� 6�����=���< ��
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� �?�< ��� 2��6��� <�<� �$��$=�$ � ���$��=�$� 9$����>��� '/++J�0� �� �3<�����
%�1<���� �=��� %V�$�����$ ����� ���$ ��=� �����$ ����� V 6E�� ��>�<><� E@$ ���$=�� $�=������
���$�$���>�� � �?�< ����� ��� �=����� V 6E�� ��>�<><�<�� ���?������5� �=���
%V�$���������� ���$ ��=� V@$���=�$ ����� V�$���� ����>�� ��1����<?�< �� �% <��5�
� �?�< ������V�E?E��E����$ ��=�V@$���=�$ ���$ 6��$%$���=���%V�$�����$ �����6V $B�
%�1�<=�� <� �=���� ��� V 6E�� ��>�<><�<� ������� %V��$� $�=��$��=�$ �5� V> $��$��$ ���
2� 2� �$ �%�$���#��1�@���3� ��$��?���=� ��=�� <5�V> $��$��$ ���=$����$ �����$��$=��
�C<���� 6$��?�� ��=�$ �5� �=����� ��#�� 3�@��� V> $�$�� V 6E�� V@$���=�$ �� 6V��$ ��>�5�
=�%��=�� <�� $�=���� B$� B$ ����� =�����<��<><5� V> $��$��$ ��� �<?� 2��=<�� �� =� ?<�
=� ����>�� B$� V> $��$��$ �$� �=���� =� ?<� ����%$�� ��%6������� 6EC�$���>�5�
�� ���$ �����%E=�$=�����>���3��$�$�����?�� ��

(���C� ��� �=� � �?�< ��� 2��6��� <� V> $���� ���$ ��>�� ��$� V 6E��$�� ��>�<=�
� ��<���� %E=�$=� �E@$%�$5� 1�@���3� B$� ������<� 2� � ���?=�� ����>���� B$� V> $����
���$ ��>����� V 6E�� ��>�<><�<�� 6EC�E� 2� � %� ��%<�<�<� ����>���� � ��%�� =�%��?�� ��
� �?�< ��� ����C�� <� <?<><���� 6$��?�� ��$�� V�$ ��$ � ?���� �< !� D> $���� ���$ ��>��
��B ��<?�� <�<���$�$ �����>��B$�V�$�����$���6�����=����E�E �$ �����3� =<����<=�� <�
� ��< <��2��� �� (�>�<=�<� 2� � �=��� ���?�� ��%�� %� �<��<� �����=� V> $���� ���$ ��>��
��B ��<?�� <� ��$� ��6���� ��$� ��6���� �$���$ �$ 5� =��3$ ����� � B$� 2��6��$��� �$�
��1����<�� <��E@$��$�$2��� ��D> $���� ���$ ��>�� B$� V 6E�� ��>�<><� � ��<���=�� ���?=�%��
���$�$%$��3� =�<�V �$=�$��6 �2����=�1��%���C��<?���� �%�1<��2��� ����#���$��2� �
��2������ $��$����$���B$�=� ?<��?�< <����<�2� ��$>$ �$��� �$��C<�<�����3� =�<� ���
B$� 2V�6$�$ �$� C��<?���<�� 6$��?�$����$��� 3�%���<� ���2��� �� 7� =�<� B$ �� ��1�����
� �C�� <%���2$�@$ �C��<?���� �%�1<��2��� ��
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.��� )�
�$��������� ��$����� "���#���
�P� 8��$��#$����
� F��!�������
(���*�������!���������$����
�Q��
$���K�$����#���
�

� 6E��
$�$1�>��)5�($ B$��D@�$�� /�

*�����"#�$� ���� ��������� �$��$ �#�1� ���� � 6���@�������� #$���#� ����$1��� � $�
�������  $�$� �#� ��1���� L#��#� � $� 3����� �3� ���$������ ���  $�$��� %$� ���
���� ����������$��$ ��3��#$���#��������� 6���@��������#$���#��3��#$���#����L#��#�
1�����B$�%�� ��$6���B$�%��33$����#$�2$#�B�� ��3��#$�L#��$���#����1�1��������L����
2$�����11� ��1������ �� $��$�����W� ��2�����$�����#$�����$����3��#$���#�����

"#$�����$1���3�� 6���@��������#$���#�L�����$��2%�� 6% ���3� ��#$�3� ������$�
��� �#$� ���$� );G+�����L$B$ 5� �#$� ����$1�� ��� $U1����$�� ���� �$B$��1$�� ��6$�#$ �
L��#� ���� ���$������� 2%� ����#$L� ���$�� ��� );IG�� ���$�� ');IG0� �����$�� ����
����B���B$� 1 ��$��$�� ��� �#$� ��#����� ���� $�1#���@$�� �#$� ��1���� �3� �#$�
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 $������ �3�  $6 $������ ����%���5� ��#���� 1 ����1���]� ���� ��������� �$��$ �#�1�
2$#�B�� �� L$ $� 3����� ��� 2$� �� ��6��3������ 1 $����� � �3� ���� ���$������� �3�
� 6���@��������#$���#�����6$�$ ��5��������2$�������#���������3��#$�������B� ����$�
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